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We are proud to present this collection of dissertations
written by the talmidim of the Mesivta of Coral Springs. The
boys independently researched and explored their chosen topics
and pulled the ideas together in a cohesive essay. By writing their
compositions, they have demonstrated a degree of mastery of the

subjects they studied.

Each dissertation concludes with a practical lesson, a hora’ah.
The Rebbe emphasized time and time again that all learning
needs to come to expression in how we live our daily lives. As we
print this collection in honor of the Rebbe’s birthday, 11 Nissan,
we hope that both the learning and lessons have a true impact on

the lives of our talmidim.

DYNNN — ("1 Y70 N PUIR) — PINY 19009 RNND DYAN Y0aRp MY amnn a”y °
DN 3T NN IMY T MY JONI R



Included in this collection is a part of a section of the NN
naYna - Topics in Halacha - curriculum created by the Mesivta.
This section explores the basis and 21N for not cutting or
destroying one’s beard. It also includes brief biographies of the
DNYRY and DNINR not mentioned in earlier nYNo. We
encourage you to set aside time over Pesach to learn this XM

with your son, as it is a very important topic.

Wishing you a nnwy 9w3 an. May we spend this Noa together
in 09w’ with Moshiach!
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What is the reason why we let our beards grow! Is it because
of NYap or 3N or is it actually nNIYN?

Before being 11 in the D'pDIa it is necessary to be clear in
the D105 and 91N " IRN that touch on this RMo.

anoav "N

D PI0A VY P RIPN
STIPT NIRA NR NPNYN RYY DOVRT RS 1OPN RY

Rty 128
nrnY DN NYYNI DOVRI NRS 19PN RY PINHY DYy,

NRT PR RI NIRANY JPIM WRIN VY INRY ,00N DYTIIN
anmwny

& Nty 1AR RN 12 DNIAR "7 was born in Islamic Spain, in Tudela in v"NN "7 (1089), A
great 0on YN, his influence was felt widely both during his lifetime and after his
nva. He was well versed in many different mnon, he was a 711 w19, poet,
717, philosopher, astronomer and physician. He was evidently in contact with
on 1327 as shown by certain mavIn in which he is mentioned [for example look in
YMIPRT 07T .0 M WRI). He was 9091 in circa 7"9pnn 7 (1164).

The Rty jaR explains the 0’1049 according to VWA. His style is totally different than
»"»7; he is opposed to using WM or any form of interpretation that is not
explicitly derived from the words themselves. In other words, &7 approaches the
709 as one trying to understand how the 77N wants him to understand these
words in its most VIwa form (and the n7In leaves hints and clues for one to realize
its intentions), while the X1y jaR explains the 103 as the human mind would most
likely translate and understand it.
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P09 RD P9 RIpN
0IWY RY DIVID NP RY DIPT DR DWRIA NP NP RY

VY
LUR]
,JONVN RO (13 v RIp) HRIVIA INRIY 1A andr RS Dapt Nk
IWRY INYP RY 90K 99,270 R 10021 VYN WHY Ny
2PN NN L,NNNYN 12 WY MY NIPN 92T HY ROR 27N

N 2109 11 P9 01T
N NAYIN D NYR NHYNRY 923 1Y RS VR YY 7323 I Y RY

YR VY 93 PPOR

"y
LDOWVIRD 172 TONY 0TI WIRY MIT RANWY .AWR Y 923 %90 oy RY
21N DVY ROR IT PRY

PY RHY INR 727 .0°WIN 12 2w 199 AR nHnw 123 w1 RN
DNVN Y2 YW WV MIYD WYY

:N2YIN YTY R2ANN WIAY ROR 17N NI0R RY .nayn »

Soomy 12 1w DN

JIRIPR 9 %921 ompn penT prram et Ypdn ond RS
LRV PR ARANIIRY N0IR 121 PRI RIMIY 72 92) 79D R
POR TAYT HI RN PIPYR ‘N DTR pRIn DI

7 According to W1 in :nY PWVITP a VPYN is a tool used to polish the sheath of a
sword and a "1 is a tool used by shield makers. The n”an3 (in NMWYNA V1Y),
however, explains 220717 VYN as two types of tweezers.

8 It is from the oldest w1178 on the wmn. Sxmy 12 1M was from the greatest
DRYn of 1ptn Y9N, MY BN is a DN of the WmMIN in NIR similar to  BRIN
DIYPNR, yet he interweaves various NTIR 'W11°a and NaYn into the translation. DwIN
1My has a number of different MR, one is called 'nYw11> DN printed in the
standard Mm% MRIpN. From the Xy in .3 97 nYn you get a glimpse of the
greatness of his wyva.

% their clothing

1% since these are the clothing of a man

o
12 a man shouldn’t cut his hairs by his m1yn DIpn or armpits or face i.e. beard

13 .
to look like a woman
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19 Y93 5v nIn

[.3 97 MmOn] 0 MwYnN 3 P9 MIN NION MYN
27N NPT IR NNYNM ORI DR QPN ORI AN NNPN

IR VPHNI IVPY IDAR INMIR YR T YN 1YYV TY 27N PR ...
29N NV

TNI5n 779 MON NOON RNAOIN
127 7109 VNI DIADNA 1YV PN NHVY TY 27N N ...

21N DTN MOYPIN IV TPIHR 1 DIVN IMR KRNI 12 PYNY

¥R TINY T 4T RY'¥N X132 NIDN Y922 TINON

NN PAT RN IR .DHYVIV 1PAVN MIPAVR RIR :JINY 127 INR
RP¥I PRrvnn ppYo san RADIT RDI MM LINY 27T 1AW
P2 7amn mad RpMD RTIMT Y9I 1Y 9770, RpMD RIMT
131 9277 1191 PN - IR RINN,TRYIVY RVNWY

25m9m0 Arnwn

A28 PP 1IRIN 2T e

JORN 2NY NRINN DY RINY ,JNIRD 1720 RYPYI 990 12n
JORN 1N MY opYro a

VYN PRI

DR TN YW 2220 185 NAW IN122I107 L899 Y TN

" The xm has been broken up in to sections for ease of learning (the untitled
indented paragraphs are the »w4’s. This is the case by all quotes from Xan3
throughout).

Bfill it up
16
ared pnn
7 and place it
85y vnw a
¥ The xma is describing 13y '9’s beauty.
20 .
from the remaining
21 .
shine
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OJNAR 0297 I PYN RIND 27T DMIMY N INRM PR

VAR APYIT DAY VAR APYT DAY PYN INAR 27T DI

NRY - 17799 YN RP RY 1IN 227 199R) .PWRIN DIRT 179910 PYN
19 RN RY DN NITAT LN 02

JPIRN N9 HY PN AT MM
2550 R pyn
Zipr ona nan

2,01 - :M 97 1 NYON YA TINSN
MYN M2 PAPHN 1IN YN Zan Y3 IR PHpon a7 IR

IPNI NI 27 RN .DMADNA RN ,IPN RN 212 T 0 - <MIYD
72 972PNN AN 227 IR RIAR 72 RPN 227 IR YN PYI 2TINRY
NN TN NPR WV NNAYA 1IN LAY - MIvn A Tmwn

JI29TN 79IRPT NI NPIY IRN 1DMNID M2TH RHR

nYoNY 923 w1y RY DIVN 12 PRI PN 1M Y1 BIR Hpn 27 INR
OR

DT IDINR NNN O NYN N722Y Y 1aynn

25990 Pys 9waY INDI DMADNI THY AN PYI

MIYN N2V MYD MI2W I 191 Y3 YV LYY nvayn ramm
DPYT NANR ORI AN 2T PR

22970 MTIN MON 2INRT .APY RN

2 Not totally, just similar.
% 21p navw nxa

** The xm3 has been broken up in to sections for ease of learning. However since
the N2wN of P8 NNX is based primarily on this 8713 it is recommended to learn it
properly from the actual Xn3.

% remove (lit. alleviate, lighten)

% The 778 Nnx (quoted on pg. 10) proves from many mmpn ARIN that 193 Y3 does
not include the head, thus excluding the jpt (even though 17’s statement can
possibly include the 1p1 since in the nipon the XNy says 17 is only talking about
190N, which the n7N does not explicitly 9oR [p"nvwa 17y]).

77 armpit

% Even though it’s close to the skin scissors do not cut as close to the skin as a razor.
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, 1my 7R 17T MavIN
INN MIVY Y RN RHR PHr95T RNMaN PIDY I8N M.

TDIR DMADNA AR JINY M OTTAR MNP MY RHT 11277 D
A9TR MDA AN 0277 YRVMm

MYN T2 2PNN AN 77 IR RIAR 92 RPN T IR INRT RIR
DN AWK NYNY 723 w1 RY (25 p1aT) DIVN APY - MIYH AN
INA D INRT RIN 20910 M2TN ROR NN MI2TN NPR YW NIAYN
RY ,DI1WN 7Y AT N - MAIYD DY) NVA N2 YN RANT LRIN
VR NYNY 723 vy

noNY 933 va1» RS DIVN RPN 17 YWION RYTNIT JIMRT RN
AYW N WY Y 911 RINY 792 NITT NYRY VR

:RNINTIY Y VM 7102 WIT ORN 723 A RY RN RNDP RIM
va1Y RHY DR ,IMH TINHN RN - QYR YY 923 29I Y RY (35 pMaT)
IR PRY RN NAPIN INRI 72D 70 ,WR NYNY NWRI NYR NHNY VIR
NURY ,DOWIN P2 2N TWUR NYHNY WR VWA ROV ,ROR 1NayIN
DOWIRD P2 29T VIR NHNY

RY RN WMIT RN DN M2TN ROR NPRT 20T .XnDp RIm
RURPY

WIRN WA RYY 2NN 7Y MR DRI MY w1 RHYY TnYY DR
R2 RN N ROR R NAVIN 2NN IRIP RY 79 DWR nHnw
VINY VW DOWVIN P2 2VN TN NVRD NHYNY WIRD WAY RHY
TN DIVN

2o is wondering why not use the Rn»12 that was quoted to 27 ARYWaR as a "R
for 130y ’9. That way the X1 would not be able to have a ®Wp on him since he has
a 8NN3 to support him (17 was forced to learn that the Xn»a was referring to a
7yn, however according to 13Ny "3 the Rn»12a can be read simply that any form of
cutting is MOR).
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200N91% 11992 NYR RXN ROYY 1IN IR 2pY? 12 YR 119
PN ROW - NWR NYNY 923 W1 RYY ,NVR HY 923 90 Y RY :H"N
PIND RNIYPD DYDY .AMIN TPTIA 110N 27 INR LAWK MNPINL VIR

23T 10T PPN R RY 11N3INNTI .Anndnd 11 voa
92N NWR YY1 XNV DN LAWR DY 733 09 i RY D Tinbn

TIVH AT INRIV NI ROHR T 9991 RIDDY N ROHY PN
(0 pvmw) NINYVN

ROV YIN RYY 7YY 11NIINN INT .AVR NMPPNI VR 1PN ROV
NOR YV DMIYAN 7TIIL 0D

AR 1Y T AN 127Y Y RPN RAR 72 WY 1337 D 1NN
JNR 0277 np TR NRT R0 Lo mapr nnnn ny
NPT ,MPY DR 2T PINY IR NN RYT ANTN MYN N IRHIR
SIOR Y INR 7AIY NN RPN 290 27 PPN XY RN RMaN
5T RINY AT 93 19 W 0t onng 93 :9"R P19 Rp RM 1YY IR
O3 MR Y R 2nY 10 RPN 190 27 Prn Rya v
LM DR 130N

JNVH N’A DMSDN .NDY N

JOPRY 7YY NN RPY DT RP RM

.0ON TNRYNn YY 11 onns 1a

JNVN N2 YW .Y HT ANy 1Y 0H RN

7715 71PIRN VYN MYV NN I INYA N2 RPN

SNV N2 apnY NORT YTT .RIN RM1AN N T

VI 19210V 9127 DTRY 7NN INY STV 1192 1YY IMRY Y » ha
JORN

YN NR 9°aynY 173 172 MWD N°a2 . mH inn

12N 7 HY W RIY 1T MY N2 T 4T3 PnY inn
ATH22 ROR YW Y IR DRI IMNR YR

30 they fell out

3 mpon

32 et him be he is from the nan

21t will keep growing, and become uncomfortable!
** to rub the area until the hair falls off

* when they were taking off his garments to whip him
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DPOINY NN MaD

10250 20 P19 020 NTAY MIYN n”any
NN NIOR 7Y ,DIPT TINVAY PN D20 TV DD TIT

1Y PR PNNNN MY 1YYN MY 12 W MRS wnm Lipr nmwny
NNRI 1910 1501 ORI AR RS DI HY AP LipTn NY1IIwY HRNYN
DR NR NPNYN R INRIY IPN2 NNYOY TY 2N IRY 0NN DY
PRI * 708 019003 NPT NYI DR 7299 ,ANNYA 12 WYV MY PPt
W NY W DR NPT NNYNY NN TWRY YYD TY 11D nYannn

0 WIRA IPT NIPNVA DRY LipTa

Ty S1an
7.7‘711'11 9272 PIPNRNN W NN DT W 'O NIy T Nadn
I

1192YN RY NNPT HY NTIYVYN P IPMIAT 1ANI HIR DY N2
M qua RY wRI2 RY K9 HH5 DMvon AR NIva HY Y12
:PINDY NOWVN

#own qoa

VA DMIADNI NPT NYI DR ANOYW 1IN PTNY RIR N'M
IRIN LWRIN NAPNT RIMIT 7DD 0PN IMINT RIR RNOR YNWNT
M1 NONNIOT LRPIT IRDY VP PIINNT RIWDT RITPOT IMD
#q0

*® In 1 1350 regarding WRIN MR8 and in V N3N regarding 191 Y3 WY the B AN
uses the 1M VY. V"

7 133 738 DNIAR 12 1V DV 1 was born in Spain circa 1”0 'n (1287). He was a 7nYn
of the X"aw in Barcelona, where he also studied nYap. He was 9ann a number of
D190 on nYap, but is best known for his 1Y YTan, a primary w1178 on the n”anm3. The
main objective of the 1y YTan is to bring the 71pn to the n”anv’s Mavn and to answer
the 772890 mwn. The Mwn qoa felt at times that the 1Y 9Tan brings mistaken m71pn
for the n”an7 and misunderstood the 77arvn nwn.

3% Written by 1IRp qOv 1.

* Look in n7yn 36, and in the Tn quoted below. To get a better understanding of
the mwn 93 look in his Qo1 N’a quoted on pg. 9.



DR MIYN PP 8

)7 XN 4°'|u’nn 990
079002 NY3 DRI [1”7 2™a 0™av] 19719 INIIT D”ININ and...

VAR ]2 MYYY TR AR RIN MV RPITT PIATH ORI .N0H
NOONA 12 PIVA ARTIV 1NN ,IPN PYI D7I90N NHINA IR Y
.[2" N"] DY 1INRY 1T

TNI 172’0 072NN N"MY
RN MR DWIY 79 0710001 19 mran n91v 1Y amn...

ONWN RYR DR RHY 1Y |DMA0NI YRIN MR NHN MY DX
RIN P10 ROR PINNN 2WINY 10 ,009TRN HTY 1NR R Iyn HY
mxn 5y 92y nwYy men Hv1a NY DR 199 ,YVN YT ANY VR
79299 ,72% NYYN RY MIXN RN RHR |79 MIRD 727N PRI NWYN RY

2725 ANNYAN PHY NTIOR RHR L1DTIY 291 1R

4215 170 DNYA N N
AN DR IR TIOR DR DMHDNA DIPT DINNVNRN Y MORY T
JIYN2 DR 73 1IN NIDR RYYW DMINMIR DYNONNN VI 2D

ORY ,ANNYWN 12 WY 72T 931 ,0MN 1INR NYN RY VM
D»”PY NYPN MRNI TR ,DINPN PR DIIVN R INRD DNINVNIN
DNNOY MR

“ The 7NN 990 explains the mxn 3N, based on the n”anv’s mxnn 1. However,
it is arranged according to the nyw1a. Each mxn is broken up into four parts: (1) the
77 of the mitzvah and its 9 pn; (2) nixnn oyv; (3) basic MaYn pertaining to the mxn;
(4) who is 271 in the mxn and the mxnn 1. It was composed in the thirteenth
century by a 7n9n of the 1”am, who refers to himself in his nTpN as " nan M WR
M9¥12 NY". Hence, the first publishers attributed it to "9n 1978 "3 of Barcelona
(n"®1). The n"R7 learned under the 3"anm1 and was the teacher of the X"avn.
However, since in some instances the 71m is 1Mo what the n”R3 writes elsewhere
some attribute it to %N onia v, the older brother and teacher of the n”N.
Nevertheless, the 7"w, DTan 9, the 1”nTR, ¥”% and many others maintain that it is
indeed authored by the n"R.

* The word 1919 seems to imply even jp1n MR’a. The »17 wrote a nwn disproving
this implication quoted in 11 D79 N7 790 pg. NO (82 NIYN)

2 ynann apyr "1 from Marvege, France, lived in the twelfth-thirteenth centuries. He
was one of the mavin »Yya. He was a Y23pn and used to ask mYn moRw from a
range of topics that were left in doubt by the Y81w> *9173 of his time. The mawn
that he would receive nYyn5n was made into a 790 called DPYN N M2V MYRY.
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XY Mo 43]w1n nman
2IRY IR DMADNA JPTN NRA NYIY NOIR TTI VI DRA :NIRY

L3272 PN DOYR PRY ROR “pnnnd oipn w1 IRY :n2wn
.81 1T RNV DPM90NA PN NRA 7907 RYW INDY NIT IR
JTAND NPT MY RN

RAp 120 YT NP 47qw na
N M NYNNIYT LRPYIT IRY anpT “a9n IR RTY YRV
D”ANTN TR T MVNN NV PN PYI 1PARY DMO0NA 1PTH NNY
IRIMY NI DMIADNI WRIN NRA PR 1NNY ("7 278 n"MIYy Mabn)
WRI NRAR 172 {pT NRAR P2 PIINNT 920 RPT (0”72nIn ana 1”7 .19)
(O - 2 "0 a"a Man) W'RIM (a7n 0”7 :2 myavw) MAvINNY 9”pRyY IRD
PN MRAY DIPN Han ,PYRIN MRAY RP RYT MO PYY PHIN

s 1P9I0R YRIW? 1 was born in Regensburg, Germany in 3"p 'n (1390), and served as
7”1 aR of Vienna-Neustadt, Austria. His maywn served as an important mpn for
mMa5n and ©2MN among D TOWR. His JvT0 NmIn 180 was the first of its kind, it is
written in a n2WM 1YRY format yet the MYRY were written by himself not from
ORI, D90 Mann throughout history followed this style like the 1R narw and
others. He was 9091 in 3" 'n (1460).

* The qov M1 in his 1N P72 quotes this jWTA NMAN using the word OX.

45 sharp

“ |f the scissors are very sharp the bottom blade will be similar to a 9yn.

* A wrva on the 1Mo written by 1IRp qoy 3. Additions that he made post printing
are under the title n»an pTa.

*® The quv ™1 is commenting that the W5 of the MV and the mwn: Ty 17N WX
aYna 1YV shouldn’t be understood that nYnnaY the beard shouldn’t be cut with
anything, and only 7ay»72 using D»19oNn would be 9mn (even though the a»n 18
usually does imply only Tay>713). Rather, even n%nnaY it would be Inmn to use
D900, as he continues to explain.

* 15991 and w87 hold that wrIn mra will only be 9mmn if they were cut R5w Dmaona
ayn pya. The qov nva is now proving that according to w”R7 "owin the Rn»1a that
mentions only the avn of a 9Yyn must be referring just to the MR of jpth NnnNwH,
since the MR of YRIN MR NNNWA s also with 9yn PY> nson. Based on this line
of reasoning, YRI1 MR*a would be more 7N then jprn mroa.

The n”anA (according to the qo1 nva) holds that jpriy WX NIRYA have the same 7
that omaon are 9mn. Therefore y™3Y it would be 1M to use o»aon for a jpr (The
x"%¢ deals with this ’89, it is quoted on pg. 15).
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IRT PN PYI 1ARY DMADNI NYNNIY IRTY MY RNOY 9129 IRPT
RN 12 DRI WRIL R MWT WRIM MADINN DTN 39N PYI IRY
079012 7Y PN PP IDAR IRTYI ROR IPTT oMan

1 1o CCowTn maoin) *hay nan nMw
AN WRIN MIRAT (0 17 0™MIYN Mpn ‘Ynn RIna p19) D”aNIn and
NPT N9 DR 72295 5 VINRY (PTH MIRAAY DMIADNA RN VIPHY
2101 MIYN DI 1YY PPN 7221 NOR YAR YPWNT VI DM9DNA
907 P ARNIM L,0MIN PITT NVN 272 PIIT RIN RPIT IRDT
LJUNVN IPRY 1190 090N 1D 1YY MRS NNNWA NINNT D7aniny
ROT RPMT M) 7NN JI0IRD W WY VIVIPY VWIN NINN Yax
RY WRIN MR VIVIP DYLN 1”7 IMN R 2N IR ROHR Np

.0NY "M DWW 0NN RATVTRT PV

53
AR 12D TP PYN PN NRY N

(o922 MIYN N1 MVN N PN WYYV 27 DYV
- YN N22Y MYN MY aPNN 221N .IPNL 19N Y DTR YN 227 IR
PYI 2190RP PN NI 27 R .DMHDNA RD ,IPNA RA 20D AT 1N
ayn

D90N2T MOR VNN VPHNI GRT..” NXVPN VYA and...

2) NYN N2 YW 1AYNNT POAN 1KY DT Y RTINON VPRI RIT
AN 279YRY L123 WaY RY DIVN RNPNIRTN IPY 1PN YN MAIYD
SR NV VPHN MY LIPN PYI QR DMIADNL YWD DY 1IAYNY

%0 pranm v "o will all agree that the Rn» 1 is at least referring to jprn Mmroa.

L onawr apy’ 12 wPn rax 1 known as the »ax paon, was born in Moravia in *"n
(1660). He was 17 in various Sephardic communities, and he adopted many »nmn
T190. He was 11 in Germany, Amsterdam, London, and Poland. His n"w reflect his
wanderings and the many stormy affairs during his lifetime, including his staunch
opposition to »ax *naw. (p”ay’) 1y apy’ '3 was his son. He was 7091 in Lemberg,
Poland, in n"yn (1718).

*2 mawn that didn’t make it in the original noaTn of the »ax oon.

> The original n21wN is over 7 DT (NYMR R3) long. One must learn the entire
n2wn for a proper understanding of ¥”8n NVW. Here we only quote the MM’ of
the x”¥’s NVYW broken up in sections, titled, with quotes from the ®m) to give the
reader a clearer understanding.
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1P WRIN WYY Y591 PR 191 Y3 podna
IRY 1N RIRT I P WRIN HHI IR 193 HHIAY vynh...
PR 199 791 1IN IRD2 DAY 913 DI IYWA I'RWN INIXY 91 NN

#5pn wRI R 1912 PN 17T 1M1 WRIN

ROV R DMO0N MAIPN 1223 MY N2 WY NI12YHI MORY N 1 nvKw
yn Py
- MY M2 MYD N2 aPNN INY 17 IR RIAR 91 RN 2T IR
RN 1DMI9I0 MATH RIR NN 2T NPR WY NIAYD D1IN ApY
1277 YRVWNY TOIR DIADNA R (AN T 10N LI 2INRPT MM IpY
.297R 199 Ny

R IR JINY 7 9DIR PN PYI DMIADNA P DR PAND PINI..
1IN 79 12N9Y 'OINN PYHN ATIRIVY JDIR YN PYI RHYW DMa0Na
ADIR ANV AT YNYN PN PYI RPIT IV KDY TDIR DMADNA R
2 7P 1% W 9 Tyannw nnn any o L. Epay Yoa
2TIVI IRTY INT N LPHRN TV I1HNIDY D13 DTRY NN INY HTIY
15077 ,PIND Y MmN ROMTY RO Y TIMIN nd "Ry .Naan
19 DRY 72 93 DT IPRYI QR MWYH HIV NTT YN PYI RHYY DMaDNA
D’790N02 NNRAT RN PRV 2971 NWN RYTNILIYY TNTI DIV R PR
SR 1Y Do

ayn pPya RHYY DMavNa 4R TOR AP N2 MYN N2 TYVY na%nn iE)

VNN 13 RANY @%p Y TV NNTIN NDIIA ONRYND W ...
RYY DMADNI MIPN N722) NYN 1222 T0IRT V7P D RN R”2WIN
PN%2 Ty DNORY” H"n Ywna R7awIn Y7 07ans RYT yn pyo
993 YpNY TIRT DIVN 27 ROR MIYN N2 NYA A2 NORT RN
D79DN2 1D%ARY AN DMAR IRWIAT H"Np 1MIYN N2 NwN Nl
1Y 9327 RVWYWA IRTY RHR.L.RY HHI HHI mMayy mw Yar ayn Py
.. OR

> The ¥”% (in ® MR) brings a series of NYXA to prove this point.

** Therefore the 11 that 21 gave, that one may use 9yn 1»3 0»aon for 191 Y3 does
not necessarily apply to jp1n 9Yw. With this point clarified the %% will later prove
that jptn 9YW is more 7N and even using D*190N would be MOR.

*® The ¥"¢ (in 1 M) brings a series of NYXJ to prove this point. Here only one is
being mentioned.

*” In the 1) quoted on pg. 6.
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TOR MY MY WYY NIIPNT PIDAY NIRI NTIRID NN
PIYYY 0™ P MORT Y'DY ppn w n’m .nMn
YN2 WM YN PYI RHY R MORT 3”3 IR DMADNA

:MINI2IN PRVRN VP YD RN R"2VIN

N PYI RYWY YN PYI 010N JpTA MY

ROW IR 9PN PYI DMH0NA MW DR PTN MYA PTY R o).,
9707 YRNVNT 27T RN NNIRID 1IN .0"TN 1INID NORT IR YN PYI
RY DIVN RNPIIRTD APIY PN MIPN N2 NVA NV WYY PAYNnT
YN PYI R DMADNA PVN DY 1PAYNY TN I"aPRY 133 waYy
MR PIYY IRIN PTIPTY W NTIRIY "R .IOR 710NN VPYNL N
PYI QR DMADNI VPYY IMN I”APRY IPNA ROR 27N IR 3T 11D
.J32770 TOR IRTY NV VPYNI 1N LRIV IRNT PN

DR Y07 Fhrn RMaY MYnwnY 219 MY NN 9"RT 1YV IR
NP RMAT NAT 2000 IRY 121 YN PYI DDA [P MRS D)
971 19798 710 TPNVWN RO AT HY 1IN NVYN RY IR RITHAT VYRY
,NT2IRY HPW 1IN Wi AT IRAM RYT 191 V1A 1PV K9 MY
P17 27 N1y nwn 8RO ©.725 071 P N PRY Y707 MRIN RIR oN
N PYI DMADNI MNMOR JPIAT YRYN PTH MR RYY 190 Y2
F19yn Pa HaR PRNT 19102 R7Ap D QDY MANY(T) RN .07y

MPRM MIYN N2 MYA AN 0H RY IPTH MIROAT IRTY ROR
YI9NY 40V MaN 2T 79N N N EPINn 9901 9RaN 1) N
LAAMNT ROR RPITIRD RIN MV 0”200 W7

TIPNA WM DN IRAN RYTID AT PINN IAT AR RY "M
SpNY PRY 97 Y707 NN P NOON2 1D I IRNY NN

®a bigger V11N

% 29 only mentions the Imn of 19 9YW. The ¥”% is asking that 17 should have
mentioned his 9I’N regarding jprM WRIN YW since it would have been a greater
wYTmn.

© The "N quoted on the top of pg. 5

®* Mentioned on pg. 9.

®2 Quoted on pg. 8.
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nooNa 791 “nIR 19 RY ORT 87 MWA AN NV JPIN MRAI
Q9 RTY ROR “Apn pyr DMapNa YRIN MIRD NI NORY 1
P77 DR RY 97 MYN M2 IPVWIT "N H7OT RYR) MV N WVN VP
IPTN MR SpnY PRT 112TH NTRY 029 Y3 YY .(Ivn Pys prsom

40V n°and XY MYN NYaan Ny

NPIYT MAIYY MYA H7OT 1IN MY INRT RIIRN TN VW V")

19 3097 ORTY 9”R D™ DMIADNI D) TIOR {327TN RNPNIIRTN IYnNa

ROR RNPNIRTN 29N WRT 17YR DMADNA 2”1 MOR PTh MIRM2A

271 PR 97 MIYH DAY MYN DA WYY A RID N YDA

9”R D’90N1 D) MOR D™N 279PR1 .H™D 9pna RHR RNMINRTN

MY YN DN DMADNA 27ND DR IRTIT.L.IPIN MR VDY 2"W)
J339T Y AT

D} YY) NI TOIR R7IVIAT YYY IRIMY An 2aY 'R

MRA1 D) PTN PY MIRT P9V WD R YN PYI RHYY DMaDNa
65
P

VaYN RYT MO W pTn MHNa

2" POV INRY TN DNAY PIRDD TAYN JPIN MIRHIAT IR TN
@7 77%7) NAVT 279 YR NV 11D 923 VAP RYT INRY NOR IR
RY DIVN NORY MNNY NN MIa» mMIvwy vpina @y ) Mand
VR NYNY 723 VI

PON MY MY VPHNRN (" may ‘hn 2%s) D"aNIn ann
MY NTYY 9N DY NNR 1YY VPYVN NPT IR IVRIN MNINY
PY NNR MAY WYY YaVVNn NNY 1YY YAy DR 9 ,NVR
I3 QY NN PN PYI DHDNA NPT IYY NN 19V KT VIV...H"IY
N2 IR THYY NNAY VLPYM NMNY PAINT RAYOT .10 TV YN
299 YYD NYINA DY 931 NYWR MIPIN MY M M

63
where

% The 83 in 0 only talks about qun 2yw.

% In y MR n1P2WN AN W7 printed in 2’ A¥1 4T 27N PMEN TITand in 27N 73 NPMR
oVN ‘Y the ¥”% writes: “ MOR IWRY DTR 932 {pIH MPAIN NV 1NN 102 WY MON
PTI2 3”RVN YN P RAPNRTA”. The 727 in 3 NIR R PHN VTP MR deals with this
nno.
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21 MYN 2T NOR IMR PV PN YW NI2PNAT VIV §D DR
12770 9N 21T NOR WY 1193 AT NOR PITNY PR IRIT ROR .MIYN
D IRDN RIHT RN 19Y PIRD NVWNN 12 WY 1D TNVN R IRDD
IRDN TIVT RITNL IRIAN NPT PIRT IR MNNY NN Nad vphna

2023 WA RYT

2N IPRT PN PYI DMADNI NPT WY NIAYNA T 08Y 19 XY

72 wa» RY MVYN 1IPNY YW PRI MIRAT IR DIVN RNPNIRTN

DT N2 MIRINY 1T RINY NPT YAIRND RIY IRNDT 0NN RNPNIRTN
0219 93 YY 9N PYI 11739 INYINWYI 19V Y RNYNIRTN NY

T 5P DIPN DINT NPT YIIX NI NNT IMY W YN PYI ROY qR)
N2 MY N22 170K RPN 31 1IN 3 119 "R N2 DRI ORTY T
TINT DIMIR 1N DR R JPTN MIRD VPY WY 050N MAIYD
RY DIV TORW IMN NIRT €M AMn RN PN MRAT IRY
.02 vay

oy man mata

IPTN MR Y23 D”anNIn YW”NT NIONY 2"an NrYWIp avrn’ Nt
Y RPIAN IMNT RIR RNDRT YRVAT TV DM9DNI NYI DRT
MIWHT RIPOT AN and AT YT WRIN MR NApNT RIMT
595 DM21 PR 1IAT Y N 1HYNNYT RPYT IRDY VY PRannT
MM 235 PN YYS PIPT D”ANINT INRN NN TIAd N NNa
RY 1P MR 223 T 13YNa YNNI SO 199N 97NR 191 Y NaYna
RIDRT PAXRI NN .09 DMADN2 N7 DRT R” IMINY and
.D79012 D) NYIY RN

TP 2N IR (179) MINT RNHOINAN DMPY 07anin Sv 1PIaAN
09 P RTN YNWN TNV DMADNL IR NIV 1YV YN NHVIY
DN AN IPRT RVXWA DaR PRI 10198 HY ORP P90 93T miphnn
68
8 =) AU

% qov mans
” Mentioned on pg. 9.

% The ¥” continues to proves this further 9":
193 D201 MYN N2 1PNNT 279 198 1IN 21017 DI9DN MYWD RNADIND RNT TV
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MMVH2 NAVT M09 1IXNY NI RAPNIRT NORY NnY YoM
) NNR MR 2N NI RNYNIRT D NORT j0N VYW NOR Har
{(N"0 N"Y D NIV ‘N YT IINIRR YY1

4Oy nan Y RN NONT

JORIN MIRAN RIW ORN” Q0P AN NYPNY RMWVIPN DINRY
MR NP DPNINN YW N2TTR RNT RIN ROPOR ROWVIP N7IRID
90 7 PITN IR 2N YN PYI DMADNL 1VART RNPNIRTA WRIN
7...0790n0 PIYY 1PN MRAN INY YRIN NIRDL DY D"aNINY

177 ,0°79002 1PN MR NYIY TORY InY DYV 210 W prvnn
D900 4R DR MWD A MY N2IY IRT D”aNINT DIVN
mY /Y 19IRY RII0 DIV 1D AR RY U 199N 10 POAY NI
PIRD NVNRNN TIYNT DIVN M PNVA N WYVN Dp 1P MR
WaY R DIVN 2”2 AT WY MYV "D XY TN MRAN MHNIY
VR NYNY 723

IPT RDY N2 AR Y 0KIANN AWIYY NNT ‘NIa aRIan RNT
MY VPYNT RNYV 1107 923 W2 RY HY Nra 12 TWR MIn Mt
DOWIN TITY [P R 7 ROV (27Y T7% 7T) NawT ”YI91 $"13) MNNY 7NN
95 NYINA "W 37NI IR (2" 2T) MINA 191 MRINA T2 YY PapnY RN
97T ,MI2Y VPOYNRT H™IN M VNN DT N L,IMA IR AT T SYY 0T
SN2 9935 191 99N PYN NIRING RN YW 1PIN IAYNT 7PN

55 By °,nvURa XY PN MM NYRI MY MY VPYRT R

QPTYI DYTN WIRI MIINY INN N5 VPYNI T IPIN MY 1IN NRT
MR I"RVN..VNAN T NPT I"RY N ARTPY MY Ny oy
MR MY 1P R 1IN IR DT MR PV 19 INY R WRIN
9", 7M1 IR DNYY RY DR R IR 1PV N0 INAY W WRIN
12 5PN% R7R NTWR MPPN 1Y AT MY WV I 1P MR MY

NTNY "R DY IRAMWNI RY 10N VPHYNA YAR DMON RPITT N"OWA INI 17IY YN
1901 RNADIND V"N 3"Y "KLY RY 1007 17Y PN PYI DI90N MWT RINT 1DART
RNADIND MM MM NVH RO RIN NOR YR 0T H¥IY 70 DMADNA IR NV
M RYI NVA 1INV D”ANTN PTPT 1991 MOR DIDNA DT H7¥IY NVNIY DMIADN MVD

2913 12T PPN ‘D2 N7RIN 3" PANY NN AN

® This question is explained clearly in nayn 49.
" The ¥ is asking, how can there be an 110R of wabn KY if an NWR has no beard?
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9715 955 N1 Y RY YRIN MRDL IRV NV N2 IYWIAN INY
OR MPINN PRI

WRIN MR 1Y WV P AY PR ONYR RAT INR DYV TN
193V Y MR N0IM MRAN MR NAIVN DWURIY ROR..IDTI
MR N9 W HAR MIY NYRI WYT PINY IR NS RHY DNWIPM
PIN YYD IRTY I9IRA TDY nImn ndYa oYy nnva1 mnoan
RIM YTY DY DRI DNYAY NNYA2 I”R1L.LATIOR PINA P37 .nneY
T2 PR DM90NI PIMIND NYIN WIRAY AN IR .AVRD MIN VM
1YY WRIN MIRYA ARTPY 909 RIN NWR N1 N2TTR RNT HHI NWR M
VAR IR IMH DI (n797) ITIT T NI RIVRTIY NWURY M) PWNY
.Y NYR IPY DIVN YW NI NMNMORT ROR WY NNYIN NYRA
.19 RN MT WININY TWAR R HaR

MN RNT 993 NYRN NN AT PR YRIN MR NYIND VRN "R
VY IR YRIN MIRD NOINY NN "R 791D RIN AT DIpNa NwRa
YW 7257 .WNN NYR M INT IPTH MR MY YaR HHI NVR NHNY
WY N PR DVRIY VRN DWRD MY INTNNY NRT TIY 71IN2 IR
N LAVR P2 WIR P2 HTAN 927 DT IPTIY WY WIRN R YY) 1pn
RN DR AR NN THAN ORI TPV PT Y PRY DN DWRD NN
DPIIR IR DWHW NNV MR IPT 1Y 1N PRI MY DIYIIR NPT
999 19t Y Y PRY N RIN AYVRD NN IR IMIPT ORI D MY
MMTI THY Y VNN DYR NI IRINN PIN NYIN WIRAYI 19N
20NN YR NYNY WY 7Y 1P 1Y PRY NYRY N V192

V%N KON 1P NYIY NIND 1N NORY TVAR 71p"n': "aR

N2 YV NI2YNT Y707 2pY? 12 R™MT pUNY QRT MY TWaR 19N
2"DN P9) RNMIINTN 92 WA RY 12 PRI DN ROR 1R MYN
DYTNINN DIWIAYN WIR VI RHY 101V RIPNN WIAMNT (D 70 PIRY)
LIRNY DWIN 172 NAWYH 12 R PPN 110 DvId

nYavnh nMmT VNN NYRND WIAONIN RIN IPTH MY DT 2ah "R
R2Y WIR RINY 935 M9 1119 "Wy 1Pt 0D PR NURNY 1179 .98
"WIAYN 2" VWA DR NYR RINY 1291 Y1 NPT NHINYWIY .DYR

! Mentioned on pg. 5
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N0 WNN YR MWIAYNN 'R WAIDN PI RY INT IPTH MHN RXN NWRD
JTIRTT PN R 1T 9 NYT 9oYNn

V1192 VNN IRD 2N PR OITARIT PNYT DIVWIAND MYNVNY RHNR

11 93 725 NWraba HaR .DYWIN P 2V 19N WIAYY TY DIV MWIaNn

3 1NITN Y IPYT VNN VYN RY HY 12 PR DIWVIN P2 AW RHY
.. DYVIN P2 2WWI INT NAYIM NOR AWIY Y3 N Nayn

QYRN NYaYNIN D7 RY NYRY JPIN DIPNI NMTY [PTR MM "R
72,725 191252 RYY 19133 12 VYR AVIYY 71210 1Nm

:[n"17 0] 731’1])75 Niax n"v
1N MOR ORTIT.ONIIRA D20 DIADNA PN I90Y NOR 1Y)
AT N IPORR DN LA YT D"ANIN VP TINL..APIY IR P NINN

LAnnwn 1 ww myn am

oap

: nWwIa 3 712 K27 RITRA] M
[RWI NWIA 3 719 KT RITRA] 9000

9P 91
"CARIY RTPY RIPPTI T VIRT RN M T0RY V™ NND

2 The "¢ continues to be %999n and IRan the MO of 1prn MY7. However, due to
its length it will not be quoted here.

73 11 qov 1 the PR 22YRRIM.

" This implies that o»9vn would have a 210 of mpYn which contradicts what he
had written in the previous sentence. Furthermore there isn’t any nv*w that would
hold m»avn have a avn of Mpon. Therefore the »avern7 must be referring to the
electric shavers that had just come out (where some 1011 were allowing them) and
he held that they are like a 9yn. The PwY of WH¥R seems to imply this
understanding. y”¥1.[as explained in jp1 0’15 N7 190]

> There are many more MMpn in the 971, we only brought these three since they

express that a jp1is 1. 1OR to be cut 2. Important 3. Special.

76 “Woe to the one who places his hand on his jp1”. Some understood this to mean

that one is allowed to trim or cut his beard he just can’t lay his hands on it. The nnn
nn 7o 2N YR displays the ridiculousness of such an interpretation.



DR MIYN PP 18

29 971
K1 72109 IRIINRS TON PIVIR RHII RIQDT RMIPINI RINM
RPSYN IRNVWR R 1Y RYOPY

0% 91
EROINIA SN RMPPN RMDHYYI RNV RINT DIWH RIPPT

DYWVYTP NVIS MXNN YV 578N "anNd
N2 RY Y93 1PN WY TINNY RYY TRN A1 °RN5T n M

HAR LIPTN N DIpNn DIVa R ,N0nd RYY nYynH RY DMaDNI RN
228 .WNN PVN HY DANINN DNIVP MIYY DMK JPTh nnn nonk
D900 IR NN NDIRN DR 29PNN MPHYN NAVIY YYD

VIYNY IR NPYH RINCTRND DIT) NORY MR 7'0 ROR TIY RN

1997 92w YV MMPX DN 23 NPT TIPN Y1 7252 TNR YW PR 172

MPY? ROW 1TI N2 VHYNRY NPT T DMWY RHY INDY DIRD PIN
YV NPR WIYNN

MNRY HY TRYN I DIRNY DY 932V 1”1YT MM IR 71D D)

-R DY 107 9910 1PTaW Y70 NI 12197 ;70110 DYVY 1pra Y ROHY

2910 WYY DY NYNRD WNY 9173 INd anny v RN O-1-v D
JRDY PNPIN DD BN Y 0D LIPIN N PIYY DIpn

Is there a N35n 79 5y N3N to follow TN NVIW?

N 20 T PON 17277 NMY
LAY 19PN 12T RNINHYA RDW 190,

19 12’0 ¥ BN NMY
M2T MINY MY R RY PDIdNN N N AT PR DR..
DYTI MY PR D NNND OINDI DNNRD DMAT HAva DHOIan
IR DPOION P2 NPYNN WY DIPN2 NN MINDIA POY MRNM
L RINT 2 TIT N IR 290 203 191 3N NPYIIN Y INoY o

7 4t was taught in RX1I¥T 8790, TON (Which comes through the jp1) needs to be
maInnY and M1, and it must not be cut, lest it dissipate from this world”.

78 “The 1Pt beautifies completes and is the most precious for the face”.
72 Hmn
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N3 10 NPT 1Y PHN 801315 Dnan nMw
2 TN Y3Y TINON YR NN N D P2 DNY ANR 32 03 M

RYT Y1 0"aNIN AT PRI PNN RMNIDN PNN NYTY MORIN DR
ITIN TN M2TI IR VIPH.L..DMI0NT 12T NMORND YN
VYA ANYM LYY PIPNN ‘D2 YT A"RIN RIN DNIVRIN DPOION
IR DPOIAN 2T MIANL NPY POD ROR R RHY (0P 00T

nponn

957 29 MW Y PINRY YT "ATININ 230 NTYY S Y Mn
N3 NYT 920 Y1ON 1Yapn DPDIAN PA NPYNM RPAD RINT
RPAD RIHT ORTY YNWNT RIN W ,VITPN INTN 7902 N2 110NN
AMPN INRY NN NN PIVY 1PV DPDIAN DIV Y Npvnn RN
.AMnn N

2 10 [17AR] ¥aan nw

IR PN IPYWVIRG HHN 7 DONONN TONN 1NN AN TNYNY
DY1IPNNY 272 DM W PR PN IINTR DR IYRY NNR DYo
D92IPNNI MY W RNNDN ,IINTR VM .DPDIdN DY DN
9% WY AN (R A7 Ho] 1YY PV XY RIN RYD MR YR
D2aM) DYIPNRN YAR ,DPVIN DXAMI 13,1V .DPOIAN INR
DPODIAN T DYIPNN INR Y

an p”o N3 o 82n111] mwn
n19ap 37 IR DY W DPDINY DYWA PO ININ PRY PTI...

Y12 1Yap M7 DPDIN P RNINYS VY DIPHI DN

8 y79xra 717 1 was born in Venice in n"yn (1718). He was 27 in various Balkan m%np.
He immigrated to YR7w> pIR in n”pn (1780), and became head of the TON NW’
DN7aRY. He was considered one of the outstanding 02127 of DYYwi1. He was 7ann a
W19 on the MWYN, TITHY DIVIV; a WI1’A on the RNADIN, TIT *TON; @ V11’9 on the Mav,
2727 M9D; and a V171’9 on NN YY W3, TITY YIWN, as well as many other oMav.
His son married the daughter of R”1n, who greatly respected 171988 717 3. He was
7091 in 1"pn (1790).

& pyym 1IN OY. MARNA DY Y

& Written by the o»n yan
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49w DOINRNN

VIP 1270 (07N NIR) R PYN 1IN0 DNN DY
199,01 23T WYIN AN NYT RY IPTH MYNN T 119 DY VR

VVINY RYY 1aNIW DYpN MA0Y IV NNL.DIVD IR AN R)
NIMN DN DN YaR ,MINDIA POY Y PR HHI NpTa DT
12982 DYDY P OMOVIN NN YOV HHUR PIR DI MINMIH NYINTD
N RINY DYIPNN AR MINRND NIVY HYA Y omn 1 D
DYYRA RITIRPN 17V VHY YN 19 /R 7YY PRYA Yan nHhun
nm 799 1MIRT PIRY PIN PR DYPNRN NN 7aYYw IR 1M oY

591 0wy Y PRY NN PIRR

¥ The 1o’ for the 01NN is actually from the » @Yo R"ap 190 APT MY YW, The
qann (and R"M1) evidently holds that there is no 7199°R to cut ones beard as was
quoted in the NWN qo3 and qov N’a (except with a 9yn). However since the pT8 NNY
and others disagree with the 710’ of the 0¥ n’a they also disagree with his poa in
y"w. We are not here to say that 07117 that don’t follow the na5n ’»poa of the nnx
PN or other V"WYan »PNYN are wrong (VA — 19 TINY N PON VTP MR D).
However none of these m21wn that we are about to quote mention the 9ann. With
that in mind we attempt to analyze their m2ywn piece by piece. The myyn are 7172
IWaR (many of them have been taken from the jpt D79 N977 790).
8 |n pYR 190 it doesn’t mention anything about the nRan y"n3 cutting his 1pr1.
Rather in the nnTph it mentions that the R mpn 9"w? cut his jpr. However, the n"w
PYY IR2 writes, H"1:
WP 93 9 N HY MYTH NRAN YNIIN PN PR PIN 20D ONIPM NVIT WA RIN)
201 1INR PTNYN 931 PN QI0 TY 2N .17 19N0N...N
The next nayn will discuss the pwy Tra.
 The 1970 onn in this paragraph mentions two points: 1. A "y 1w that the y"m
1Ran shaved his beard. 2. That nYap 9"y in PIRY pIn it isn’t 87 to have a beard. In
response to the first point: DR} PR qOY "3 in his 13 »0 qOY 2T NV (The ¥
mentions this 4oy 217 in the beginning of his 1ywn) is wnon at length the M7y of
the pwy IR2. Y7
DY PNODY NRI PR PYY HPAN 2T 91 D WM 119D P2 9NN DT YY NN AR
TPRI IRY LRNIVNI RHOT DY IRIY MWD 1NN AIRNN WYY DY IPYYNN 71 2D
973 PIITI 93 HY RYN T RIM N7NYT YNNI NN N2I0IN
The 91Y9% nman writes that it’s 9192 that the 990 onn did not see this n2ywn for he
would never have based his poa on the pwy aR1 over the qoy 27 who was known
to be DI 1YI2 DY PRI (The OV M2a7 disproves the pwY IRa from other points
as well v"y.)
In response to the second point: The ;YN between Y™n and »X is mentioned by the
PYY IRA. The 01 »27 who was a great Y21pn writes 9"11:
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TNPN RN TN MIONN TN HY 19 DRYYy wmn wmar *van
DYIIM NINN NP A RIM NI IWITRA ROR 1N nNwn
DIPT NYID WIabn NMIvh DivH1 DINNONNnY DY 11NN IMTN
1911 VYN 27aY DNNIPT DOV INDI 713 IR D DIANRD DIV ROV
D22 PRY YN 1PN DN 9D IRIAND VM0 Y 'R P9
PN MINWNY VAR IRY I3T 1P MY NYavY L1 MwYY oan
NN 2290V 19 HY ,0naY DAWA NN DIVIRD TIRN DNYI)
199 12W 10T INIP HTHIN NV ATV RNOPI RINVPD P Y9I HTH RHY
MR MR DYTIN DN DN DAVYR 1IN MY IR PN PN
T 9995 182 RY P19 PIRD 1MW RN DT KW

DIVN 'N ORI VNIN NONN PN IR D PN M AT MM
THTY DIV 12 PR IN NV ORIV NN 9209 INR YR 00 PN
L2 PR NMOR N7 IDAR HYI papm

NNMINN MNA WIWVI PINT VYN INT YN PPI D?I90N DIVN IR
RIYTI TIND PNNNA PON ONR Y W TIRND TITN ANV VTN
3 M19N] "Y1 PXYNRN PN NN ANNWAIN DY 179w RYT TN RINY
32 R2INDN) 1™ M2TY WNT RN Y VNN D AR DINVRI [R7Y
RY 9PPNPM 1Y IR VITR PN TRt (MY nT R7ap o T

20 NN NPN 1YY IR

R 1770 T pYN DN NNIR VN MR DY
RN RN DIPTA DTINR MY RY R HHI Proon PRY 1HR)

(M"po R7p D T 2w IR11) RDNY NYAPN 9"y RN NININ

MMIPORI TVR 72T AT RHN...IPID R N3 RHT RN IMIDAN DPIvIN MY 129 RN PR
VYN N2 ARV TINR 91 ,0YAPN 1Y TINDY DIXMIPN PNT OVIR NXp HY My Y vHy
MIPT AR RIN RONLLIMMRD NOVWA 10 PIN IR DINYA 1N DIRIND DWPNI...NT IRANN
NIRIAN NPNOM DY 2PN..INXYY PRINNY AR INR.LIMRY 1Y NYINY PIRD R¥INA
RN U NN RIND T MR RINGPTY ROT 10 AWIYY N HY IV 27PN IRM 1IN IRNDT

<INV PIRY RNV MR P21 59 R P2 PIPN PR 9130 DAIN RINY 9T YT
The 9o 27 continues to prove why pwy 81N N110 does not agree with the mmo?

of nYap. vy

% The 1m0 n"nn is explaining that there is no reason to MmN PN 1PTH MY JOR
oMn.

& In response: The 7'n, »ax non and the "% (and others) have explained that py>
avn is not just a wwn like what the nMA NN 790 says rather it’s an MM NOR and
perhaps an RNYIRTN NONX.
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DY T 9V Yyrwm FRYTN AT PR YIR LPIRY PINA R PR
PRY 19R 97997015 170wn kY NIVRIN DNIVRA DNSIXA NN
QR 192pa2 YMIRD NVVHY VYVINY TN P71 RINLDIXPN 1DAR 119010

.12 079N 2aND ROYY V"IRAN YPWNRTI YNa

IPT 990N IPRY TNR R RIHY VAR MY PYVIND YR HaR
VIV 125V ,NAY INY DRI PIY MDY MIYYN NMIVAY N¥pna
RNT NPT 99101 0 1NN IR GRY 27 DT mMna "wah
TIIRY NINYN PV INYNN JIVN PO MY PIYY NNR RO RN
NPt MpYa mMavyy moy 1anon RINWI RN RIND RT NpLa
1NN 1INRT DYyvn RIM 7Y PHA 9901 RINWI RDINY YRWN R
W31 1" 2”3 qT PITMDA PV L1 DY TApNY TINNY 3" NY
RINY N¥PNI MNaN Y35 NPIa 79Non ORT N, MINYN 0
VIR DNON INY PIR R RHY DI IR I MYV Pdw Imay
LN 19IR DIPT DR NI RI1IT RIA1IY 720010 ”RY ,ZnmTan

® n response: From the D'pvIa quoted in this XD there is no doubt that it’s not
just a pamIN it’s also RI*TH.

8 |¢'s unclear where the mynwn is from.

On response: There are two mRD in ¥ and the n”n7 in that XNy, and W1 in .20
NN doesn’t even mention the second Rp7% that it means 99non, only in NN
he mentions it as a RINR RIWY, in other words the 790N RO is the .
Furthermore, the [n3 0] 7Y DNAN writes, Y"1:

D727 IRY DR 'NANN MY Y3 NNRA DINR NNAON YN WA 79 TN DY YT 1”NINT RIDR
INR2 RS 079 NNMY 72190 N WITRY 1YONT 1YY DINN NN IRDY WITR Nan 199N
RIN TN 21N IR 0TI NN 19 IMIRD DI IRTIA RIP? RIPYT MNPINA NI A T 'NT
TIAN M RYY HPIA RIN 90DT INW 1Y PR INXY A0 TI9N ,1PMITN 2 HY TV IR 1T
TV WNN N%IN NININ PR AT HAY HAR 1Y PRI L3N RIYVDY RNNIR AT 19N0N MY
T ORI V'Y TN 270 1IN P DV 790 N RYTAY M0 MPIT MR D WAy ino
NWITP AR DY DT ANRNY NY2I0 NYTA PR NIRT D) R W RITAT DIYY "NIT VIpon
DR 790R RY M wRn MY YY NPT PPYNITY PRI MINT DWW DNAN XYY 1NN

DY NN YAV IR Y 57000

The Y17 12 to NN explains the second X077 in a way that would not imply that

19X was 1P anon, vn:

IRT.LAVRT WY NYINY YW NYINN DN PP ROV 172 1170 NPT Y1 MV MmNYw an
L ININ PRI PRY JPIN PP 1IND? 1991 19Y 1pra pam

in response: Not 01INRN ’9% mentioned in the previous N7y, and others quoted

in 1pT 019 NITH 790 (MIYNNa YIn 'y).

2n response: There is no N30 to say this 817TR according to .A%p 3N 31 it’s ynwn

that a 10 must have a full jpr and w” a »".
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JRINORNIZ I9NDA RYY INR R N RY IRA TYY TWAR)
NMAONN P2 PONY PV PR Y™MIY 1Y RIN IPIN NNADNY 1
RINY PRI LIMNY PR TR 939 150 Na7 19195 nxepn p7 or 221y
P15 IPTAV RXNN VIR DNDY DMAND N2ADY NP WHIN
RINNY NP 12 YVIN? 77 INRY 0N DIYI ORI N9 RIN NNO0ON
STV RIIW IPTH DXRY IRTIT (R”Y 271p NaW) 1PT DN NITAT DRI
R2Y NADN2 1N9”NYWI RPIT RIN YAR NTN M RIN OWIR]
RINY PR YTHY PRnwd

anmn

.1 97 D'NDA NIYN 'Y TINYN
132 IR .RN2Y 9PN PTRY NRN POIR NN RHT 1M w1 N2

IR -39 VAR RY IR IND TWAR PRNAR 1Y 10K LN 17T NP
PAR 0N N2 YNV (R HVN) TIRIY L0 DIMIAR 1YDP 91 Y
SR NN Yo YR

1R%Y 5 DMRNN DN L,NIAY 192 PR YV 7IVN DY PTRD MEn
13w 19938Nn H02'NY RHY
20 DPVYY ,PIVN 1N PINNY Inh TvaR Mn

From the R9m) above it is very clear that if ones father grows his
beard because of his 311 it is 9708 for him to rely on the D nn.

93 .. .
It’s unclear where this information comes from.

*In response: Look at N yn 87. Furthermore, the 0’po1a which hold that the MoR
of wavn RY applies, would hold that there is a difference between 1913 and 1nxpn.
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%9 no 8 7on 95n»pmmn n"w

DINN T HY VYR IYOY DNVIM 172V 1IXI DN NNYI
DRI 0T Y WA G MND 1Y DIVM HINNY VN DINMIRD
M5 VYNV MIRIND NNR AN .0Y Y91 WYY DwTNN YhY
5w INRANY 2 T HY DM, 7999 IRDYT DIRDHNY NMIR DINNTNY
MpPaT MbYnn " 9

7T 9T MY 93 %Y DNNN %3 DR IPY DNYT DR 1D5Y T2
7T 592 3% A1 NIdD WIN NNV TY ‘N 9272 DTIND YW DT
NPT YY1 M DMIRD DTN MIRIY 10N MNIN2 MRINY
D2390 DN DIPT DR 103D 22V Y 1NN 199 .MIN NIDOY TN NN
N IRTY IR 19 MYYY TIRHRI DY DIRYN PAY HRIY? I9ITH
DYYY NNO2 DMINDNIY R L5TNNN DIPTa IRYWAY NN MIVaR
DY%Y ,0YYN NTNNY DIPIT MNT HY DIPHY AIRTY AR DAY DV
.DN79 YYN NNYIY DIPOHR

1720 Y932 03 9730 NIODN TaYN 19 MYYY INDRI HRIW DTN
DNNI2 HRIY YT YW DNT DR POYY DINNN YD DINNNY
W9 195 HRIW M2 DI DR NP IWARY AN TY Hanh nmwnb
ORIYY IDITY INNRNN 1D N9M LHRIYW 1NN INYRIL WRIA
NN D227’ ,0MXIN DT DY Y25 o0 MwYH 1072 IRRNIY
R N,HYY DYYYN DTIN DR TNNY YA DM DT Y9 DY DR
D270 10Yan? R 107N v I Y91 MIT YW T DIt
ORIV rmm

% yor DMaR 1 was born in Kovna in 70 (1914) and learned in the maw of
Slobodka and Ponovitz. He later received n2mo from the 17 in Kovna 217 BnaR
R9V. During the Holocaust he was in the Kovna ghetto and he dealt with the many
difficult mYRw that came up during those horrifying times. His m2ywn were later
printed in Dpnynn n"w. He was 7091 in New York in 7"0wn (2003).

% This n27wn deals with a specific individual that asked if he must keep his beard in
the ghetto when it was nwa mdo. MWK "3 was NN in that specific situation. What
is quoted here from that naywn shows to what length 17'R went to keep their
beards. From the expressions "WR "7 uses, it is clear that a 7R must see the beard as
M2 VYT PIv.

% forced themselves
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TN RYY DN2NO NITH HY 1INVY 10210 1AW DI P2 1D DAY P
5781 ROV 23T DNIAR 3 1IN0 MIPT T7ARIN PN TNRA .DIPT DR
99 *HTNRY 99Im MIT RV DTN Y92 NPT DR TN RY RIN
AR IYIN 1NN LN KV OVRIN 20 IMN RINY WY 1900970
A92Wa RNTG NYRN DIVN R 1P DTN AN RY NRMYY InTYh
oYY 982 vHY Y1Y HRIW TIA) 1D HY MY NRT TaOm
20" DNNIN

7 772N PTPONN MAIPA DAIWNN DXNAN OYYAN TR 7N VM
11000 Y IINNY MINY MY NR POV NY N por Ha09
29 NMNYY MIHRNY 792 AT TN NPT IR TN RN ;7272 191700
nYYe” NP1 VAN 927 YV 1INV YAR ARTIVT RIPYT 1ITM 1NN
1IN VMY T"YN 707 7173 DA (17PH2 IRINPR IYTIP) "DMTN
NINY I0AMIY DIYHNIRA MTH MINR A NPHYIY 79Y M NN PRTOD
DORY2IN 1TV T Y 2N NIV WITPN DNT DI ‘N TIRM
STPPI RY DNRT NP NNRY

For a more comprehensive treatment of this X210 look in
1Pt O”8 NITH 190.

— DR —

98
He was well known.
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77772 PPRAIX 79" W

72 PYnY YTayn omn ‘nn
R YV

The "nawn states that there are two people who own a *Ma.
The first one comes, uses the 712, and leaves it open, after which
the second one comes, uses it, and also leaves it open. A damage
of some kind happens because of the open T12. The mwn says
that the second one is obligated to pay.

The 8913 asks: At what point does the first one become 7108
“oowon?

1127 and q90Y 17 both give their explanations in the name of
1IN 91 92 129, who said it in the name of " *21.

The first one says the man is 7708 from when he leaves the 712

open for the second one to use.

The second one says that the first one is only 7908 from when
that he gives over the cover to the second one. We see that this
opinion is stricter, because giving over the cover would mean that

it's much harder for the first one to become 709.

The R, in explanation, brings up a DRIN NMYnn: Two

people own a well *Maviva. One of them is drawing water from

T 81 7.
? pit.
2 amp R 9T,
* 1103 from paying.
5 .
In partnership.
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the well, and then his partner comes and tells him to leave him
there and let him draw water. Once the first one leaves, he
becomes 7104. 2pY? 12 MYIYR 127 says that he’s not 909 until he

gives over the cover of the 712 to the second one.

The 81 asks: what is the *110 of their npYYNN? The RIM
clarifies that since at the time of purchase the partners had a
shared ownership, when each one uses it they are in essence
borrowing from their partners share. Therefore when the second
person takes the 92 from his partner, he is taking over his
partners share. The 712 is now his responsibility. That is why the
1929 say that he doesn’t have to give him the cover.

apY’ 12 YHR 127 however, holds that even though at the
time of purchase they owned the M2 equally, when they actually
start using it there becomes a separate ownership. This means as
follows, when the first person uses the 913, it is entirely his, and
when the second person uses the 12 it becomes entirely his.
Therefore, when the second person takes the 912 from the first
person, he is not taking the first person’s share in the 7a. This is
called 1792 ©» - we can make a distinction between each
person’s shares in a 'mamw. Therefore, if the first person would
want to be 99, he would need to hand over the cover to the
second person, which tells the second person “I want you to be

responsible for my share”.

® Foundation/ basis.
7 Partnership.
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R1727 then brings up another case which is similar to this one.
We learned in a mwn that if two PamW® who own a *1¥n made a
’971 prohibiting themselves from benefiting from the other ones
half. They are both unable to enter it, because if they would, they
would be benefiting from it. 2py> 12 MYHR 17 says that they
borrow each other’s property when they go in. This proves that
he holds 17772 ® (because of which they don’t break their 973 by
entering the 98¥N). However, the 1327 hold that when they enter
the 98N they are having benefit from it, so they can’t go in to the
a¥n which they own mamwa. Thus we see that the 1327 hold PR
1772,

From this case we can we can learn that just because we own a
part of something doesn't mean we can’t fully use it. This is the
reason that all Y9 are public so everyone can learn n7In. From
here we see that as much as we think that 7711 doesn't belong to
us it does because we all own it, but we have to accept it upon

ourselves.

— DXR—

8 Courtyard.
9
Avow.
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0°7712°% Ywn

D217 HRPIMY IR ‘NN
R 7YY

In :v 97 0N NooN the R tells us a PT:

If there are nine piles of N¥N and one pile of ynN, and a
mouse was seen taking from one of these piles, the 17 is similar
to the RN»12 of M"MIN YWL' that says as follows:

There are ten stores on the same block, nine of them
selling kosher meat, and one selling non-kosher meat.
Someone bought meat from one of these stores, however he
doesn’t remember from which store it was bought. The 177 is
we don’t follow the 217* and the meat is considered non-
kosher. 91 explains the reason for this poa’; the meat came
from a set place, from an actual store - this is called yap -
where we do not rule based on the 219 rather we consider it as
if there were five stores kosher and five non-kosher - nxnn>
nxnn Yy.*

The Rn»3a continues, if however the meat was found on
the street, since it was not taken from a 1ap, rather it was
w79 - something that separated from its set place - we follow

the 2171 and the meat is considered kosher.

! Lit. Nine stores.

% le. majority. Even though 5" learn out from the 770 (0 p1oa 23 P19 Mnw) that we
generally do go after the 211 this case is an exception, as will be explained.

3 . .
l.e. its ruling.

* This 177 is learned out from the NN (®’ 79 vV’ P18 ©Ma7) as explained at length in
A0 47 Mand.
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There are two fundamental difficulties here. Firstly, what is
the concern whether this mouse took ynn or n¥n? Secondly,

what is the comparison of our case to the Rn»12?

"3 explains, the mouse took the piece and brought it into a
home that already had been checked for ynn. The concern is that
if the piece was pnn then the homeowner would need to perform
AN Np>7a again. The R0 therefore tells us that by applying the
same line of reasoning from the Rn»12a the Na%n is clear. If the
mouse took the piece from a Y12p° we assume that it was pnan,
necessitating another Np>7a. If however the piece was w7129,° then
we rule based on the 217 - and since the 217 is n¥n there would
be no need to do Np»71 again.

Now, mavin has a very simple, but strong question on *”97’s
explanation. The case of M”IN YWY is a case of MW which is
RNYNRTN and when there is a RN?IRTN POD we RININY T'HOA.
On the other hand pnn np»12 is only 1327979,” and when there is
a 277N Pao, we RNMPY 'poa. How then can our Rny decide
that in a case of y1ap the homeowner would need to do npr7a? It
is only a pav that this piece is PN so we should R?pY poa and
not make him repeat npr71al?

maon therefore continues, according to w7 the homeowner
must have not been Yvan his pnn® making ynn npr1a a

® .e. from the actual pile.
®le.a piece that had been separated from the pile.
7 According to the n71n all one needs to do is be Y0an his ynn.

® If someone is not Y0an his ynn then he still has ynn in his possession and would
therefore be Xn»IRTN 27N to do ynn Np»1a and get rid of all the ynn he owns.
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RnIRTA. With that being said, we can then compare our case to
the case of NMIN YVO.

The 1 in MAOIN has an entirely different 798’2 in our XM,
The 90 here is in a case when the piece has been retrieved from
the mouse is it 9N to eat or not. Since the MR of PN NHYIR
is RNIRTN our case is a RNYNRTA P and we could compare
our case to the case of NN YVO.

The Yy'n that maoin offers for »¥1 is a big pMT; according
to this P11’n the RI) is teaching us a 7T that isn’t applicable
today, since everyone is 90an their pan?’ If the RN} was truly
talking about a case where the homeowner forgets to be Y0an his
ynn it should have explicitly said that?

Furthermore, the D”an3'® writes as follows,

5011 929 R pHRN LY TNRY AN KV N PIIAX DYVYN NN
99W 71722 PIN PIT2 N2 DIIN HVI IXN DR PHAN DR NYT RN
.¥NN 5y NxNNnd yapn

The D”anY writes W171°92 that in a case of Pav, in regards to
n773, the homeowner would need to repeat pnn npr1al The
D”am gives no hint that he is referring to a case that the
homeowner was not %0an his ynn. In other words, the n”an
holds that even in a case of a 13277 PAD we RIMINY 'Poa!? How
does the D”"am1 ignore MHAVIN question that by a 13277 PO we
always R92MY 1'poa?

? Like it says w1191 in Y01W PIX PTIAN I q7.
1%5 135 2 pra nEm pan oA
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The 27 VYR answers this question by explaining the whole
idea of npr1a:

AN NP71 is a unique MpPN that can’t be compared to any
other 132797 P9V, in it being entirely based on a pav. The DMON
were 1pnn that if there is a possibility that nn was brought in to
an area it needs to be checked.” The only time the BN will
not make you do np»72 again is when the area is 172 Npm.
However in our case, the mouse was seen bringing possible ynn
in to the house, the nprn that the house was 172 has been
removed. There is now a P90 on this house and the original
Mpn of NP*72 2N has returned.

Based on this explanation 7 is now not compelled to learn
our RMD as MAOIN thought, that the homeowner wasn’t Y0an
his ynn. He can learn the 813 just like the 8”2an does.

There is a major N3N RPO) between MAVIN and "W D”anN.
According to mMAavIN once YN Y1022 was performed no PAv can
force the homeowner to repeat pnn Np*1a on the other hand
according to "W 0”an7 he would need to repeat N NprTa.

This can all be applied to our day-to-day life. You already
“checked” yourself, and took care of your personal np»73. Now,
you have a small issue, there is that little mouse, which is the 9%

Y97, getting in your way. You may think that since that piece that

" x Yo 091 "D NMK.

2 This explanation is based on the mwn Tn and the n”R3 however the 27 VYR
incorporates both of their ™R’ in a very clear format. We therefore quote it in his
name.

" The reason why 9"t made such a Mpn is discussed in the DMWRY on the first
Mwn in oNoa.
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the mouse is bringing is so small, and it seems like nothing, you

don’t have to do anything about it.

You are wrong. The 77N tells us that even though this pav is
so small, you still must look again. Don’t think that since you
“checked” yourself last week, you are covered for good. This X
teaches us that whenever the Y90 9% tries to sneaks in, you must
be careful and get rid of him, even if you just cleaned him out, he

can always sneak back in.

— DIXR—
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MYyPIP Dy°2N2 VDT 772

DYIPR YOI TIT NN
"1 MYv

In RY>'¥N X212 Noon' the RINX says that when a person claims
money from someone else, if he is N¥pnRa N7N,* he pays for what
he admitted and makes a nY12W on the rest, but if he is 931 1919°
he is 9109 from making a NY12W.

The R discusses a case which is called 79n.* There is a
nYnn regarding what the 17 is:

R»N 17 says that it’s like a normal case of n¥pna nTN, and

since he did not actually pay, he makes a n»12aw on the part
which he denies.

NWY 17 says that it’s considered Y92 9913, because it’s as if he
paid the part which is readily available, and the rest of the claim
is like a new claim in which he is 931 9913. Since we consider it
to be 931 79913, and not N¥pna N7, he should be nyr1awn 04
unlike a normal case of Nn¥pna N7 (by which he’s Ay1awa arn).

Based on this we have a question on nww 11 who holds that if
he is N¥pna TN and the case is 197N, he is MYIAWN VA, Being
that land is always 79’1 - available to pay because it could never

be lost or stolen - according to MWW 17 one will never make a

LRy g7
2 admits partially
® denies the whole thing

* When someone is nx¥pna N7 and therefore Ny1awa 1»n, but the money that is
being claimed is right there in his hand and available to pay.
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1AW when he is 17N to a claim on YPIp, because what he is
admitting to is 7970 (ready to be collected), and he holds that 791
is always 9109. According to this, there seems to be a completely
unnecessary R0 in Myaw noon.’

The 803 there discusses the 17 of a case of N¥pN1 NTIN, and
the 17 is that he’s ny1awa a»n on the part he denies, and
clarifies that this is only if this case does not involve Ypap - land.
However, if he denies or admits to a case involving land (or a
part thereof), he does not swear. For example, if someone
demands two pieces of land and he admits to one, even though
he is n¥pna N1 (because he admits to half) and he would
usually swear, in this case, however, he doesn’t, because it

involves land.

The R there continues to explain how we learn this 17
(that any Rn»MRT AY12v° only applies when the case involves
0’93 1R qO2° but not YpIp°) from a pros.

However, according to nww 17, why do we need to learn out
from a P109 that he is 105 by YpIp once we already know this
because 790 is M09,” and any situation of admitting by Ypap is
like a 932 9917

>m a7

® There are 3 times that one makes a RN IRTA A1V (which the nmin says you
swear): 1. if he admits to half (n¥pna nmin). 2. If he denies that he owes someone
money and there is only one Ty (if there are two B»1Y you have to pay the claim,
however if there is only one Ty he makes a n»1aw). 3. A 91mw. However, in all these
cases, if the claim involves land he doesn’t make a ny1aw.

7 Money or vessels.
& Documents and slaves are also excluded.
° Who says that he’s like a 931 9913 and therefore he’s 4.
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The X3 answers that we need this P09 for a case when
someone digs holes in his friend’s field. Being that it isn’t 9977 - it
isn’t available anymore and it has decreased in value - he would
have to make a Y12V - because now it’s just N¥PNA NTIN and not
19'n. That’s where we need the 7108 to tell us that he still doesn’t
make a NY12W because it involves YpIp.

——— 7] mw———

What in fact is the 1T when one digs in his friend’s field? Is he
always nyyawn 1109’

The 0”am'® says that if one digs a hole in his friend’s field he
is 2N to pay whether he denies digging at all or if "% says “you
dug two holes in my field” and 797 says “no - I only dug one hole”
or if there is only one 7. In all of these cases, (being that they are
claims connected to land) he will not have to make a n»aw
RNPNRTN [rather a 132770 no>n nyawvw''].

The 7”287 argues with the D”an7 and says that it makes sense
to say by land that he only makes a 1312971 no’n NY12w, and not
RNYIRT, only if he admitted to what he dug and agrees to fill it
in (he doesn’t make a RN»1IRT M2V because the claim involves
land). However, if he claims money for his loss, it’s like he’s
claiming actual money and not land, so he should swear
RNMIRTA and not 327TN.

%1012 m3%n ‘N pra o P N

" The difference is that by a R8T MY1AW the person swearing holds a NN 190
but by a 13297 "»aw he doesn’t.
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The n1wn 70 answers for the 0”aM7 and says that since he
can’t force him to fill in the holes that he made, he can only
demand payment, and it’s up to the P to pay or fill it, so by
every claim he is always 29N to pay YpIp nnnn onT (money as a
result of land). Therefore, claiming the money is like claiming
land and he should have to make a 132971 n5p Ny1aw.

This in fact is the way that the 8”207 learns our R, for he
asks on the answer of our X1 that he dug pits “N7INIY this is
not a YpIp Ny an!’” Since he could only demand money - it’s
like any other money claim? The X"V answers that any claim

based from land is considered like land!"

Therefore, we see from our R} that even when claiming
money he is RNYMIRT AYIAVN NVY, since there is no way for
him force him to fill it up, and our 8313 still considers it a ny»an
YPIp - supporting the 0”anA.

The 19n% mwn'* explains that there are situations where he
could force him to fill up the holes. When the earth is still there,
he could force him to fill it. It is only when the earth isn’t there
that he can’t force him to bring new earth to fill in the holes.
Another option would be if a condition was made in the
beginning to fill in the holes that where dug (and he denies part),
then he can be forced to bring new earth to fill in the holes. We
could explain that this is what our R is talking about,
therefore considering it a YpIp NY*an, but one could say that if

12 demand of land

13 . . . . N
This however will not include rental or sale demands, which remain in the status
of money.

1% A w1973 on the n"ann.
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he would demand money - it would be like any claim and he
would have to make a n»12w. This is how the 7”28 would learn
our RIN) to make it fit with his nVYW.

— D XR—
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7Y2AW? 1T2127T 1777 772

799082 PNY’ GOV ‘NN
7973 YR NN PN NM
R

The 8703 brings down a discussion on the first 17 of R»n 3.
The discussion starts off with the story of a shepherd. Everyday
PynY would come with By’ to give his sheep to M9 the
shepherd for safe keeping. One day the DY couldn’t come, so
1YNWY gave the sheep without D*Y. At the end of the day pynw
came back to MY to get his sheep. When he asked n% for his
sheep "9 told him that he doesn’t know what he is talking about.
Some people overheard the discussion and said, “We saw you

shechting two of his sheep and eating them”.

RPT 29 says that if the na%n is like R»n 1319, then "Y the
shepherd should swear. 2R says back, “How can he swear, he’s a
1913.” R71 927 says back, “I was talking about the 21, nynw. He
should swear and take back his sheep.”

mMaon finds a problem with this 8913, Why in this case do we
say that if the *»am can’t swear then the 210 does! In other
cases if the Yam) can’t swear he pays, for example the case of
PYT RY PWwm PYT pwnn. Someone claims a hundred nrt
from his friend. The yani says, “True | owe fifty, but the other

" His 17 is that if you’re 932 7913 and 0”7y come and make him a n¥pna nmn.
’ Witnesses.
® Defendant.

‘A type of currency.
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fifty I don’t know what you're talking about.”” Since in that case

he can’t swear he pays.

mMaon brings down two answers. The first answer is that if
you would say “that if you can’t swear then you pay” then people
would lend 50 dollars to a person who is TWn and claim 100
dollars from them. The MWwn will admit to 50 and since he is not
allowed to swear he must pay all 100. Eventually he will lose
everything he owns. To prevent this we say that “if you can’t
swear the 910 must swear and then take”. The 2™ answer is that
in the case of Ry XY NWNM RIYT NWNAN he must swear but he
says “I don’t want to swear because I don’t know for sure”. So
since he doesn’t want to swear he must pay. But in our case the
R'Y7 wants to swear but since he is TYWN we are not letting him
swear, so you can’t make him pay. Therefore the |10 must swear

and take.

Although these two answers equally answer the R13, there’s a
1291 NN RpA3 between them.

The ®910 brings down a case of 12187 giving WNY (who he is
TIVN) a PNTPA to watch (as a DIN AMW) while he goes away. When
he comes back he asks 1YWwnw for his I, PYNY claims it got
stolen. Generally if a DIN 9V claims that it got lost or stolen he
must swear that he didn’t use it and that it got stolen or lost and
then he is 7908 from pay. But in our case since he is TYWN he is

not allowed to swear.

> He’s not denying it, he’s saying that maybe he owes it but he forgot about it.
® 1% 7D YO PO NIYA VaYN VN
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So if the n?an Yya knows for sure that the DIN 9MW used the
179 then the nran Yya will swear that the DIn MW used it. But
in our case since the Nan YY1 doesn’t for sure know that the
DIN 9MY used it he can’t swear. So in such a case where both of
them can’t swear, the ©”7217 says that the DIN MW is 709 even
without swearing. On the other hand nYw’ "3 says that since the
DIN I can’t get himself free from paying by swearing he must

pay.

The n"a says that these two opinions are based on the 2
answers of MAVIN. Each answer is based on different principles
and therefore will reflect differently in the above case. Each
opinion accepts a different answer of Mmavn and therefore

comes out with differing opinions.

The explanation is as follows. In the first answer (that we are
not letting him live) - we accept that R8T the rule is really
that since you can’t swear - you pay. However the 1327 made an
exception that here we don’t make you pay unless the 10 swears

to support his claim.

The second answer (that in our case he wants to swear but
we’re not letting him swear so you can’t make him pay,) however
accepts that really N8, the N3%n is that a TN should not
pay right away but rather the other swears first. In the cases of
RIT RY PWINM RIYT PYININ the 1327 made exceptions.

"YW "9 accepts the first answer and therefore holds that we
only make the exception of *»aw?» Y123 in a case of DN NPV RY,

” Quoted in the 1m0
& The claimant swears
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but normally we will say “if you can’t swear you pay”. Therefore,
in the case of the 1MW we don’t make this exception, since he
knows he is a 79N, he shouldn’t be a 9mW. He does not have to

put himself into that situation. Therefore he must pay.

The *n”an7 however, accepts the second answer and therefore
holds that in general “if you can’t swear the 2w ¥1213”. We only
say this exception that “if he can’t swear, he pays” in a case when
he doesn’t want to. By the 9% however, we are not allowing
him to swear so we can’t force him to pay unless the 1»10 swears
first. Since the PV can’t swear either, he is 708 without

swearing.

NMR3Y we could ask on the N2 according to his 2™ answer
that 2w’ 1MOW is RNPNRT. How could we say it is a  Rnipn
RMPNY (one being a NY'N NY12W and the other one being 1725
paw), if according to the 2™ answer that the n”a gives 2w’ ¥
is RNNIRT? Y7 explained that a NON NY12W is a 13297, and the
110 is a 2™ 1177, However, we are now saying, that it is a
RNMNINRT, so it’s not a RMPNY RMpN. The answer is that since
the NY12W is 13297 so too the 1733 is 13277. Although the concept
of Yawr 3 is RN»NRT, that's when it is “bouncing off” a nY1AW
RNNIRT. However, when it is “bouncing off” a 13277 1w, its
whole strength is based on a 13277, and therefore also 32711

The 290 DY YY1 says that from everything that one sees and
hears he should learn a RN in 'n NTaY. So the RN that we

%1 nabn 2 P19 o PIv Mmavn

°There are other opinions that say that both opinions are in fact for the good of the
TWN and RNYNIRTA he should just pay.
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are taking out from this R0 is: according to the 1° answer of
mMavIn, we say that the other one swears in this case because
otherwise you aren’t letting him live. This is just for the good of
the TYWN. So if the 1329 would make a Mpn and go away from the
main rule just for a TN, all the more so should we leave our
own routines and desires to help out a friend. Through this we
will bring m*wn and rebuild the wTpnn N2 speedily on our days.

— DXR—
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7302 RN RMY 9

IRNAIRT YRV HTIYn ONan 'nn
1MV

In "RY'¥Nn K22 Noon the RN brings a case of sheep owners
who everyday would give their sheep to a shepherd (pynw)
with "*0"1p. One day, they gave their sheep to NYnW without
DY, and at the end of the day, when they came to collect their
sheep 1NV told them that they didn’t give him any sheep that
day. 0"7Y then came and testified that they saw PYnW slaughter
two of the sheep. The RI¥’s poa is that PIYNW is 2N to pay the
2 sheep that the DY testified about, as well as make a ny12W
that he did not receive the rest of the sheep".

1RV it needs to be understood why the X needs to say
that “everyday they gave it to him with DY’- it seems
unnecessary. All that has to be said is that it was given without
D1 and then denied etc. Why it is important to know what was

done on days prior?

The 8”207 gives 2 answers for this question: Firstly, the X9
just wants to tell us the full story even though it’s not really
necessary. The 2™ answer is that the seemingly extra words are

actually coming to teach us a ™1Pn. Even though one might

iy 197 poRI pro.

12 Witnesses. Since they don’t trust him, they made a condition that he will return it
with 01y as well (o).

3 The xm concludes, however, that since he is a TY9n and therefore not trusted to
make a nY12w, we make the owners swear that they gave them to him and he has to
pay them.

 An innovation.
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think that since they knew that pYnw is a "1wn, it’s their fault
for giving the sheep to him, and we should not say that he
should have to swear to support his denial. Therefore, the XM
has to tell us that even though until now they didn’t trust him
the WYT'N is that even here the shepherd has to swear.

The R”2w7 answers that the 713 is teaching us a WYT'N that
the owners are believed on their claim, even though it involved
changing from their regular pattern. Since everyday they gave it
to him with 01 and then one day they claim that they broke
away from the normal way of doing things (gave without DY),
maybe they should not be believed, therefore the 8713 has to tell
us their previous behavior, in order that we should know that

they did things differently this time.

The w171 in this will be understood by introducing a X313 in
*maina noon. The 803 in M2 tells a case of a man who dies
and his wife claims her nawn3, which is worth 200 11, claiming
that this was her first marriage. The D™, however, claim that
this is not so and she only deserves 100 11 (because it was her
second marriage). She then brings DY to support her claim, but
the DM prove that there was no 9 when she got married.
The ®313 rules that being that every time there is a first marriage
there is a 91p, and here there is none, we assume that it was not
her first marriage. Although she has D"y supporting her, we
assume that they are 7Y 91709 because their MTY contradicts the

common practice.

1 Suspicious character.
189m0 4.
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Based on this X313 in M2 noon that common practice
overrides DY, we should assume that in our case of the ny»,
although DY testify against the N7, maybe they are mistaken.
Being that they are testifying against the common practice to give
the sheep with DY, we should assume they are mistaken and it
was someone else’s sheep, because they aren’t testifying that he
gave the sheep that day, rather that he slaughtered two of them,
and they are making a mistake. The WY1 therefore is that we
don’t say the same as we do in M21Nd NooN and we do in fact

use the DY as a support to the sheep owners.

The 2mar »nn answers that by saying that he gave them to
him every day with 01y shows that they suspected him, and it
comes to teach us that even though everybody suspects him (in
general when someone is considered a TN we don’t let him

make a PP1AWY), we still make him swear'®.

In summary, we have four answers that explain why “ 8nv 93
»TN02 RN1N” is needed:

1. The R is just spelling out the story in its entirety.

2. To tell us that even though he knew that NYn® was a
TN, we still don’t say that it’s his fault for giving them to
him without Dy

3. To tell us that we don’t say like what we say in noon
mamnd.

"7 (1493-1433 — 3"17YN-3"8p'N) IMAR PN 1.
Bitis only once we have 07y that he is a 1913 that we don’t let him swear.
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4. To tell us that even though everyone suspects him, we still

make him swear.

The 210 DW YY1 said that from everything you see or hear you
should learn a NRMN from it. The NRIN that we see from the
answer of the 2MaR "N is that even though he is a TN (and
therefore suspected), we are still "mar 435 17 and we let him
swear. ‘N NI we should all implement this "®70 in our day-to-
day life by being mat 93 17 to people we meet and this will help
bring n*wn speedily in our days.

— DXR—

P we give the benefit of the doubt.
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MypPIP 0°952 VDI 773

9N TMIN GOV MY 'Nin
1YY

There is a 17 called n¥pna n7N. The case of NXPNI DTN is
that "% gave $100 to DMIN to borrow. 2 weeks later, % asked
omn, “where’s my $100.” onin says, “What are you talking
about? You only gave $50.” The 177 is that we make him pay $50

and swear on the rest.

In 'RY>¥n K22 Noon, the RM3 discusses what the 1T would be
if omn would say “I only owe $50 and it’s available for you to
take”. Do we still consider it a N¥pPN2 TN or say that it is if that
claim has been taken care of, and now he is 932 9913 and 709

from swearing!

The R lists a few D217 from M2 NN which describes
cases where one is N¥pN2 17N and still 9109:

1) If 12387 claims *2'Y3 and YpIp from PYNY and NYRY is
only N7 about one of them, and he denies the other, he is 7108
vawn.

2) If he’s n¥pna nTn by *ppap, he is ny1awn v,

3) However, if he’s n¥pna n7n by @9, he is ny1awa arn.

Lamy 17,
? Denies the whole claim

® Or pYvhun — movable objects, which are subject to different ma9n than ypp —
land.

4 Exempt from swearing, i.e. it’s not considered a case of n¥pna nTn.
> i.e. Denies all 075 and some Yy, and admits to some vy
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The reason why the 177 is generally 7109 is because there is a
17 that Ypp is always 7104,

However, we see from here, that if "9 would have claimed just
293 (not at all involving MypIp), the 17 would be that NYnWY
would be n»1awa a»n if he were to be NTIN about one of them.
Even if they are mypIp 0937 RMT 093 - DY) that are in front
of us and available to be collected, i.e. a case of 72’n. Because if
such a case would be 7109, it should then have been used as an
example for a case which is 9709, being that it carries within a
greater WYT'N, that even when Yp7p is not involved - you could
be 1097

The R says, that we could say that in fact D93 are 909 if
they are 72°n, however, the reason that we bring a case of YpIp is
to teach us an additional vy 1M - the T of PP (to
“necessitate” (or role on) a NY12W on something that originally
you would not have sworn about. As we seen in the third 17, that
although you generally do not swear on Yp7p, since however you
are swearing on the D93, we “necessitate” a NY12W also on the
ypIp.

The R then asks, how do you say that this is the wyTn
here, we have already seen this 17 in VYD R

So we answer that really here in our R, being mM»aw noon
i.e. dealing with swearing, is the main place of this 7. In PVYTP

the 177 is secondary to the case. In PWYT'p the 17 is secondary to

® Denies all Vi as well as some 0''73, and admits to some 0'72. Since that
in the 0'7) itself he is a N¥pPna NTin — therefore he swears
7 Regular 093, which (as mentioned before) have different n1a%n than ypap.
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the case. The 83 there discusses the affect of land on PP90%0Mn,
and therefore also brings this 77.

So now the 8313 has a question. According to those who hold
190 is 09, what is the P09 which tells us that ypap is 7109
teaching us? If 190 is M09, then obviously YpIp which is always
present and therefore 7977, is 7104!

Answers the 713 that the P09 is coming to tell us that even
in a case were one digs pit, trenches or caves in the property, and
therefore not the original land and not 191 - would still be 70s.

— D XR—
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X9°7 727 7PUNWwI 727 Qp

IRNIMD NN HRINY ApPY’ ‘NN
1M

In 'Y naon, Na7 says that a person is 20N to get drunk
on D9 until he doesn’t know the difference between 90 IR
and 27 P12,

To prove this point the R relates a story with n27 and 29
RPT that were having a D9 NTYO together. They became
intoxicated and n27 stood up and Rt 237 MYNW’. The next
morning when 127 realized what he had done, he davened to 'n
and N7 727 was brought back to life.

The following year 127 once again invited 871 729 to celebrate
D9 NTYO with him, like the previous year. X1 727 replied,

“ . b . ”»
miracles don’t occur every time”.

This story demands clarification. How is it possible that one of
the 0N did something that resulted in the death of another
person! That he was 799'® is not an excuse - the N3%n is that a

person is always responsible for his actions.

This question becomes even stronger by someone as holy as
127 who said about himself “112°2 RIR 1133”, and it is explained
in 82N that a 221272 is someone who has never done an 172y, so
how could he have been 921Y on the 1772y of DNT N2 oYW?

Lay g1,
? From the nonw Ny
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There are those who explain that N33 did not actually vnw

him.

The *R"7nn answer this question by saying that the story is
not to be taken literally. N33 gave X717 727 so much wine - which
goes down the throat, which is where the nV'nW is performed -
that he got deathly ill. The next morning, when 127 realized what
he had done, he davened to 'n and ’n healed him.

The "y’ also holds that 127 didn’t literally vnw him. Rather,
since RT 27 was getting too happy he was being a 91v P19 so
129 got up and pretended to YNW him. However, since it looked
like he wnn was about to YNY him, R3’7 »29 fainted. The next
morning, when n29 realized what he had done, he davened to 'n

and revived R7°T 127 from his faint.

The 9910 Dnn however, learns it literally. He says that the fact
the ™1 brought this X3 down 13905 shows we are not afraid
that this will happen to anyone else. This happened specifically
to N7 because, as we see in *NAY NON, PR’ 92 JANI 29 says that
if someone’s Y11 is DTRN 91 he will come to spilling blood, and
127 then says that his 911 is D8N 5. Therefore, the 9970 DN
connects these two RI13’s and says that he killed him y01093.

The 19 says this story has to be taken literally, because this
story is used to N3YNY POL. Some D'PVIA say that one should get
drunk because they got drunk, while others say that one
shouldn’t get drunk, because N7 killed ®11 »29. Either way

® mmr i
R 1D g1
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many DP9 use this story to P09 whether or not one should
get drunk.

[f we say that this story is to be taken literally, we come back to
our original question - how could 727 do something like n3%9v
onT!

The 27 explains that we are forced to say that this that nan
caused R17 727’s death was a positive experience and that is why

he wanted to repeat it the following year.

The n”9W says that many D'p>T¥ used to drink wine, but it was
never for personal pleasure, rather it was nnwY. They would do
this because when they would drink a lot they would say secrets
of NN, as he writes 710 NRIPIN NN 2T RYY PN DNV 7YY’
7).

We see the same by 11728y 273 that they wanted to get closer
to 'n so they drank wine and entered the DWTpn V1P and died.
How could y17ary 211 - who as "1 explains were holier than
nwn and 190R - do such a low thing - to get drunk and go into the
DwIPN VNp!

The DN R says that the reason why they did this was that
they had such a strong desire to get closer to .

The 17 explains that the reason that they drank wine and
entered the DWTPN YT was because of ” 13 TID RY’ 1 VI
Since NN 9" the explanation of “TD XX 1 V1N is that 1
is the part of NN which is connected to 70 - the secrets of the
1N, Getting drunk means absorbing so much MpIYR that his

nNWI wants to leave the low and coarse body, so they drank so
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much wine NYNWIA in order to bring out the Y 7NyIM7 aspect
of "D KXY 1 011" - the level attainable only by nprTN.

Based on this we can understand the story of n27 and R1 21,
They only drank wine to reach the high level of mpYR mwn. 11
RI’s MWI experienced such a PR My that his NN flew
out’, similar to the story of ¥17ary a13.

In P97 noon,® the RIMX explains that the word VN can be
translated as 7911 - he drew down. When the R says 1°2 vnw
RPT 921719 119, it doesn’t mean that they took a knife and
shechted him, rather he drew down tremendous nwYTp.

With this we can explain what “R1 279 onwy nay op”
means. "N27 0P” - N7 attained this high level; "R71 v29% nronwvy”
- X777 727 was unable to contain this high level.

Why did only 8771 v27’s nnw1 fly out and not n27’s?

The answer lies in their names: 127 means big and R71 ’27
means small, therefore his nW1 had "wa3n MY being that it was
smaller and therefore unable to contain itself with all the mpYR

being experienced.

® We find a similar idea with the 711 9905% and 8YNA DAMAR 3, once when they
were learning nYap together, the 11 79pVYR screamed out he needs to eat a bagel
with butter. 8900 DnIaR 7 was very surprised and asked the 717 YYHR, “why?”
The 27 9YVYR explained that his W) was getting so carried away with the n%ap
that they were learning, his nnw1 wanted to part from his body, due to the
tremendous G-dly pleasure and he needed the bagel to bring his body back.

) 97

7 This is similar to the story of the 17 7pvYR and TR9nN DMAR 1. At that point, "
DNIaR was able to contain that tremendous nWITp, but his TnYN the 27 WYPVHR was
not able to and therefore he needed the bagel with butter.
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Now it is understood why the whole episode was a positive
y p P
experience not "N a negative one, and 127 was not YN a

murderer.

Based on this we could explain two additional questions.

Firstly, if 129 was able to perform ©nnn n»nn, why did he
wait until the next day to do it, as soon as he saw what happened
he should have asked for nmna?

Another part of the story that needs to be clarified is that we
don’t find that na7 regrets what he did and does n2ywn. In fact,
we see just the opposite, the next year he goes and invites 8777 729
again, knowing full well what happened the year before. In
addition, what is even more surprising is X7 27’s answer, that
in essence he would be happy to join 127 for his D19 nTIYD. 27
RPT does not seem to be afraid of being killed again, his only
concern seems to be whether 129 will be able to carry out the va
of DNNN N»NN another time. He is potentially causing n17 to
transgress the 172y of NXIN RY - one must not murder, and we
know that the N7 states, " Wan 1NN RS MY 1aY”,

Based on the above 71823, we could understand these details
as well. ®71 27 was very happy with this tremendous spiritual
experience and that is why 27 waited till the next morning to
daven to 'n and bring 871 227’s NNW1 back into his body.

The next year, N27 assumed that 89’7 37 had grown and
would be able to contain that level of nwyTp, that is why he
invited him and R7°7 19 was happy to accept the invitation.
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However, 891 727 knew that just as he had grown, so had na1,
and they may end up in the same situation as the previous year.
Therefore he did not want it, but only because “would na17 be
able to pull off the same V1 again!” - The experience itself was a

positive one!

The 350 is that a person is 2770 to become 7Y on D™ MA.
This indicates one has the ability to go out of one’s own 0’93 and
can rise to unbound levels® of 'n ManR and yet return to
controlled and measured 'n NTAY in the Yp*7NIMWI world.

This sublime experience of D™ M9 will impart energy and
vitality to one’s 'n NTaY for the entire year. With this we will be
191 very soon to the M%NN of WPTX MWN and the MNYW YN

very soon.

— DXR—

® The »n says, like a story from the Modzicher Rebbe, that he had to have an
operation but the doctors did not want to give anesthetic, as they did not feel he
was strong enough. So he told the Doctors, “Don’t worry | will sing a 1 and enter a
mp a7 and | won't feel the operation”.

There is a similar story that the 2”®7 »27 and the 279 9Yp>*79Y"9 were together in a
hotel in Vienna. The 2”1 17 sat for many hours, with his eyes open but you could
see he was not there - in a state of mp»a7. To the extent that when he came back to
himself, he had to ask the »a7 9yp»*1"9Y9, where he is and what day is it?

Finally, there is a story with the Rpwin f'n 8719, the 18729 was once stuck in the
elevator in her house on President Street, she phoned one of her helpers to come
and rescue her. Since he had no key for the house, the 18727 told him to take a
ladder and climb through the window of the »a7’s study.

As he gets to the top of the ladder, and opens the window, he nearly falls off. The
Y29 our RW1 is sitting at his desk facing the window. The »21 is there but not there,
he was in a level of m{p’aT1. The person climbed over the »27’s desk but the »17 did
not notice him. When he asked the 18727 to apologize to the a7 on his behalf, the
18711 said, “Don’t worry, the »27 didn’t notice you. He was in mp»7”.
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77°2°% man

190 1YWY NNYY ‘NN
2 MV

There is a 17 called n¥pna nTN. The case of NXPNI DTN is
that "% gave $100 to DMIN to borrow. 2 weeks later, Y asked
omn, “where’s my $100.” onin says, “What are you talking
about? You only gave $50.” What’s the 1717 You make him pay
$50 and swear about the rest.

®»nN 17’s adds an additional case that shares this 7. His case
is when "% said to nwnN you owe me $100. nwnN said I don’t owe
you anything. DY come and say to them nwn owes him $50 and
we don’t know about the rest. What the 177 8»n 17 in this case
says, NWN pays $50 and he swears that he doesn’t owe him the
other $50, just like he would be admitting. How does RX»n »13
prove his statement! He says that a person’s testimony isn’t

greater than witness’s testimony! This is the case of X1 129,

The X3 in R”Y N q7 RY'¥N K12 brings an arguing opinion
from a RN?71 - 'P VAR 27 who discusses the same case as 29
8»n. The R brings him as. How does 11098 17 learn this
case! He says instead we make him pay on what the D"y to, but
he does not swear on the rest. How does he learn this out? He
learns it from the P109 which teaches us the 17 of a n¥pna nTIN:
AT RIN M INRY VR NTAR 93 HY” (on all lost objects HE would
say this is it), “he” referring to NWN and not O*Y.

The RIM3 answers RN 17 is a 199 RN, and he is able to
argue with a RIn, because he is a T1%N of R*WIN NPT’ *27 (who



DR MIYN PP 66

wrote the N1wN). He therefore has more strength than other
DIRNNN.

However, 'p108R 17’s opinion is based on a 7109 in the
11N, How then can R»n 927 argue with the n79n? The R
answers that he has a different way to explain the poa.
According to him the P09 comes to teach us the basic case of
nxpna amn.

"P0AR 17 replies that there is an extra word in the p109: the
word nt. With the word 0t - this, the 770 excludes a certain case
that we don’t consider N¥pna nTN. (M means that this case is
nxpna nTn, not this other one). What case is being excluded?
Here we have a npyonn between Va8 17 and R»n 02,
According to 'p0aR 17, N1 teaches us that when DY testify
they don’t make you n¥pna nmmn.

R»n 117 responds that N1 doesn’t exclude the case of D*Y.
DTY remains a case of N¥pNA NTM. Rather, it excludes a case
where the MY admits to 'MYvVN PRn RY. The case of MYV PHN
is, when "9 goes to YW and claims that he owes him 2 cows.
1NWY says back to him, “NO, I really owe you one sheep. 19
"PMI0AR says, “ I don’t hold like the ones who say in this case
you would be 9104. I hold like YR513 29 who says you would be

27N in this case.”

What can we learn out from this 810! The 29 taught in a
MY that when the 90 9% demands from a TR that when the
TR does an 1772y he belongs to him, the T'R says that he’ll only

! Admits to something different than what is being claimed
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give him the part that did the 7722y, which is a case of TN
nxepna. The NN says that the TR then has to make a ny1aw.
mTon explains that a NY1AW gives a person NJ. The NN gives
him the N3 to get out of the trap that he fell into. We learn from
this that even if someone gets into the trap, he must increase in
learning 7N and doing MXn and through this we will merit the
coming of WNN 192 NN NIVN.

— DXR—

% This is a case of nxpna N1 because every TR is full of mxn like a pomegranate.
When the TR does an 1722y he only does it with part of his nnw), because the rest
of him is filled with mxn.
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X1 °277 wITn

Y3719 15T HIRY 'Nn
1M

The NN tells us that when someone admits to part of a
claim, he is 27N to pay the amount that he is 7T on, and he
makes a M2V on the rest. For example, if 12187 says to PYNVY
that he owes him $100 and PYNY responds that he only owes
12187 $50, the 177 is that YNWY is 27N to pay $50, and make a
Y1V on the rest.

The 'R asks: NYNW should be believed that he only owes
what he is 77 on, because if he wanted to lie he could have
been 991 9913, and then he would be AY1awn 9109 - the fact that
he said that he only admits to half shows that he must be telling
the truth”!

129 explains that a person would not have the na¥In to deny
something that the other person did for him, and therefore he
won’t be able to bring himself to be 932 9913.

However, the X3 doesn’t agree with that, because if he is
still lying about half of the claim, how can we trust him to make
a MY - he will lie by the NY1aW as well!

The R answers that really he is honest and he plans on
paying him back, but he doesn't have the money right now, and
he is trying to push it off until he is able to get the money to pay

! noon

% This is called a 1 — lit. since. Since he could have said a better claim, we should
believe the claim that he actually says.
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him back. Therefore, we make him swear in order that he should
pay him back right away. This is the 17 of n¥pna nTmn that is
2”1 a RDYNIRTN IYI1aV.

R»n 7 says that one can not only become a n¥pna NN when
he himself admits to something, but even if he denies it and Ty
testify about it, he is still considered a nx¥pna nTm. For example,
if 12187 says to NYNW that he owes him $100, and PYNW responds
that he doesn't owe 12187 anything, and then a set of DY come
and say that PYNWY owes 12181 $50. The 17 is that PYNW must pay
12387 $50 and make a NY12W that he doesn’t owe 12187 the other
$50 like a regular n¥pna nTmn.

R»N 117’s reasoning for this is that if someone admitted that
he owes $50, he is a n¥pna N7 and he must pay $50 and make
a MYV on the rest. Obviously then, if he denied it and two DTy
come and say that he owes $50, he should also be considered a
NX¥pNa NN, Since BMTY are always stronger than 8 NRTAN, if by
19 NRTN he is MY12W2 27N, obviously then, by D1y he would be
y»yiava arn.

R»nN 27 brings a M'RI for his 1T from our Mwn. The mwn
speaks about a case where both 12187 and NYnW are holding onto
a garment, and both of them claim that it’s theirs. The 17 in this
case is that they each make a n»1aw that they own at least half of
it and they split it.

How is this a 1?83 for ®»n »17?7 The case of 8»N 17 is that
12187 claims $100 from PYnw, and then PYNY denies it, and

3 .
His own admission.
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then a set of DY come and say that NYNW really owes $50 to
12989. This is the same as the case in the NWN: 12187 claims that
this garment is his (which is like 12187 (the *mYn) who claims that
he is owed money), and PYNY claims that it's his (which is like
PYNW (the *MY) who claims that he doesn’t owe him money), and
the D377 in 17 N2 become DY that he owns half. They become
D7 by seeing that they are both holding onto half of the
garment. In both cases he must swear on what he doesn't admit
to. This shows that these are the same case and therefore R»n 219

can use our MWN as a proof for his 7.

The wYT'N of RPN 27 is that you would think that in a case
where someone is 931 9913, and DY come and say that he owes
$50, he would not be trusted to make a N»12w because he is a liar
and has the na¥N to deny the whole thing. You can’t even say
that he was trying to push it off, because then he would have
been nTIN about $50, but even so RN 17 says that he is 27N
M2ava on the other $50.

Even so, how can we allow him to make a n»12w if we know
that he is a liar? Because even though he is denying everything,
he knows that the 01y will come and make him pay everything,
so he is pushing off until he can get the money and then, the
0771V will come and make him swear. Therefore, we can still make
him swear because he will probably tell the truth for a n»1aw and
he will pay.

4
Lender.

5
Borrower.
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A nRMN that we can learn from this is that sometimes you can
be sitting at a j¥232989 and you feel like you want to start
doing a new thing to better your life, but then the next day you
are too lazy or you don't feel like doing it anymore; you have to
force yourself to do it. Therefore, it is necessary to make a VoMM
which will be like a n»1aw, which even later on if you don't want

to do it you will still do it nonetheless.

— DXR—
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X°¥7 X117

TIYIXR PRN ‘NN
2 MY

There was a certain shepherd to whom every day a group of
people would give their sheep with DY witnessing the
transaction. One day they gave him their sheep without D»y.
When they came to collect their sheep later that day the
shepherd said to them that they didn’t give him the sheep that
day. They came to 1T M2, and D"TY came and testified that they
saw that the shepherd ate 2 of the sheep, but they don’t know
about the rest.

RPT 117 discussed this case and said that this case of the
shepherd is the same as a 1”7 that R»n 27 taught: If 12387 comes
to PWNY and says: “you owe me $100”, and PWNW says back to
12389: “I don’t owe you anything”, and when they go to 17 n’2,
DY come and say thatPynw certainly owes J2187 $50, but they
don’t know about the rest, 8N 727 says that the 1”7 is that PYnWY
pays 12187 $50 and swears that he does not owe 12187 the other
$50 - just like a regular case of 'n¥pna nmn.

If the nan is like RN 29, then in this case of the shepherd,
the shepherd should pay for the 2 sheep and make a n»1aw that

he never received the rest [However, according to those that

! When someone admits to part of the amount being claimed from him, he pays
what he admitted to and swears about the rest. X»n "3 holds the same is when he
denied the whole thing and D1y “admitted” to half.
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argue with 8N "9, the shepherd is a 932 9919° and therefore M08
from a RNPIRT MMV,

»aR then asked: how could the shepherd make a ny1aw? He’s
a >71wn - 071y said he stole sheep; how can we trust him to make
a Nynw!!

R»N 17 answers that he's talking about the people, they
should make the n»12aw - not the shepherd. (There’s a NIpn called
3TN - if for whatever reason the person who is supposed to swear
(to support his claim) cannot swear, the other party has to swear

- and they will be believed against him).

The 8313 asks: We said before that only according to ®»n »29
the people would swear (since the shepherd cannot), and collect
their claim from the shepherd. However, it would seem that even
according to those who don’t agree with 81 "3 and the shepherd
doesn’t swear Rn»1RTN, he still has to swear 13297. This is like
what 1911 27 said that in a case where 12187 says to 1YYnW that he
owes him $100, and pYnW says back to 2187 that he doesn’t owe
him anything, he is 992 991 and therefore nY1AVN IV
RNPNRT, however, he is still 132971 MM1Awa 2N, In our case,
since he is TWN and therefore unable to swear, they will make
the N»12w, and he will have to pay.

Being so, why does 871’7 say that only if the naYn is like "
RN the 17 would be so, even if it’s not like R»n "4, the 17 will
remain the same - the people will swear against the shepherd and

he will have to pay?

2 Denying the entire claim
3 Suspected man.
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The R answers that the concept of Yaw’ ¥ - that the
other party swears - is a 13pn of the DN and the BMON only
place this MpN on a RNPMRT MMaW. However, if someone is
only 132971 nY1awa 17N, we will not apply the other mpn that
Yaw» 3. In the words of the ®n3: 13>72Y RY RMIPNY RMpn -
we don’t apply a D9N NMIpN (meaning 1TX3) to a DNON MpPN
(meaning 13297 NY1VW).

Therefore, the n390 in regards to this shepherd according to
the other opinions would be that he is nyyawn 7104.

However, this still requires explanation: Why do we let him
off free because he is a 231 - *19w1 RVINA R RY? We see in a case
of someone making a RN?IRT MP1AW that when no-one is able to

make a NY12W he has to pay; why don’t we say the same here!!

The 72 of this is that there is a fundamental difference
between a RPNYMRT MY and a 13397 MW, By a  nyaw
RNMYIRT you have a 2¥N-NTIN on you - either swear or pay. If
you could swear, it will work, but if not, then you have to pay. It

is your only way of taking care of your 2vn.

However, by a 13297 n»12w, there is no 21N placed upon the
person, rather the DN make him swear as an additional 9v972.
However, if one is unable to do so and a 2w is not possible,

nothing happens as a result of that.

* A sinner shouldn’t profit (from his sin).
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———— ] ————

The R asks another question: We know the 17 of T’ 27
who said that all shepherds are automatically "mTy5 Y108, The
reason for this is because they are suspected to let the sheep graze
in others fields, thereby stealing. If so, why did we say before that
the shepherd can’t swear because he was testified against by 0Ty
that he stole, even without that mTY* he can’t swear because of
T 0a’s P!

The R913 answers: This 177 that 7T ¥29 said that a shepherd
is always TYWn is only referring to a case dealing with a shepherd
watching his own sheep. However, in a case where he was
watching other peoples’ sheep, he is not automatically Tvwn. The
proof for this is, because if you did not say this, how can a person
ever give his sheep to a shepherd; it says in a p1oa: " RY MY n14aY
*5ywan nn" and by giving your sheep to the shepherd you are

causing him to steal.

But why in fact is he T9%n only by his own sheep and not by

others sheep?

We have a 993: *RY 89 R0N DIR PR, and therefore, he will
allow his sheep to graze in other peoples’ fields, however, by
other peoples’ sheep that he is getting paid for, he will keep them
muzzled until he reaches public grounds. This is why the

shepherd is not considered TN with another person’s sheep.

! Not trusted to testify.
2 Testimony.

® Before blind people don’t place a stumbling block i.e. you are not allowed to cause
someone to do an nay.

‘A person does not sin if he does not gain.
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A N8N that we can learn from this 7 of 19 RYY ROIN DR PR

is:
The 27 writes in DY DYN:
The 29 9YYYVM once said: "when two people discuss a subject

in NMay and they study together, there are two D?PYR V93
against one NMNAN W),

The obvious question is, just like there are two MpIYRN Wa) -
so too there are two nnnan va1? Why should we differentiate?

We could answer that 12 891 R0IN DIR PR, in regards to his
n'nNan a3 there is no concern for the other. Only by the wM
NYPIYR and NMIXM 1N is there concern.

We should join together in strengthening each other and
improving our N NTAY in a way of NRYY 1Y 1Y NR VR
71 Ry, which will bring mwn NOW!

— DR —
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27w 1PN XY 1Y "1 1°1va
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The NN says: 910910 1N RS MY 195 - one shall not place a
stumbling block before a blind person. »”®7 explains that this

means that one shouldn’t cause another TR to do a n772y.

It says in RY'¥N K22 Naon' that it is 1N to give over one’s
sheep to a shepherd even though he is *1Wn to let the sheep
graze from other people’s fields. The Ry asks: this is NN
problematic because he is being 921 the 1722 of NN XY MY 1ab
91990, because by giving him the sheep, he is causing him to do
an 1711y with the sheep. Why then is this 9mn? Because we
don’t suspect the shepherd to let the sheep graze from others
peoples’ fields, because a person would only do an n72ay if he is

benefitting from it, but not if it’s for someone else’s benefit.

The 8”207’ asks on the 8I1¥’s thought that there’s a problem
of 7 7aY: Most shepherds have their own sheep, therefore, even
if he would actually have the sheep graze in other peoples’ fields
there would be no 7YX of MY 14Y since he’s anyway doing it for
his own sheep! In other words, he isn’t causing the shepherd to
do the N1y of n13; the shepherd is doing it anyways?

taaT

2 Suspected.

3 59108 DATIR 12 20 DY 7 was born circa ”» 'n (1250) in Saragossa, Spain. He
learned in Barcelona under the ®"aw7 and n"R7, the greatest D*1mYn of the 1"am.
The X"V was 27 of Saragossa and Seville, and many m9YRw came to his 771. He
wrote a w179 on the 0"V, He also wrote 11911 190, a defense of the nr>123n NN,
against the criticisms of the 1”an in his 17 N0 YY V19, He was 7091 in ’a 'n (1320).
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The 8”207 explains: in truth, if the shepherd would have his
own sheep, there would be no N2y of My n9Y. However, it
would still be 9908 to hand over sheep to the shepherd since he
is being *p»on the shepherd. The Ry is therefore asking, by
handing over sheep to a shepherd who is TYn he is definitely
doing something 70X, either being Y»0n or, if the shepherd has
no sheep, the far worse problem of My »95.

Based on the ®”2v7’s 72 the MR of MY 7aY is only
applicable if the shepherd would not be doing the n2ay

otherwise.

However, how can the 8”2v77 say that he’s not causing the
shepherd to do the 1772y of %1 - isn’t he doing the N2y with
every sheep separately, and when he hands over his sheep to the
shepherd, he is causing the shepherd to do another n77ay with

each one!?

We see a similar opinion from the »’&n’, who says that if
something is 1OR for us to do because of the N2y of MY 74a%
91991 1NN RY, but he’s able to get it by himself, by doing it you
are not 921V the N1y of MY 1495, For example: if someone is
selling N9V meat, and the person buying it can get it anyway
from a different place, he isn’t being 921 the N2y of My 7aY.

* Helping. The problem of being y»on stems from AtY At 037 YR’ 9.

* xR0 OMIn 1 was born in "0 'n (1249), and was one the leading 02217 in southern
France. He was 9ann many D190, the most well-known being the n79'nan n»a, on the
mwn and the 813, The early 0’17nR did not have a copy of the n7'man na since it
was only found later, and many times the *1"&n takes a unique approach to the X1
which would possibly change the n3%n poa of the earlier D1 INR. He was 7091 in '
n"y (1315).
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Based on this, one would be allowed to sell someone an 7708

item, because he can also get it from somewhere else.

However, he would not be allowed to give it to him for free,
unless he is able to get it elsewhere for free. Even though he
would be helping him do the n72ay, he isn’t actually doing the
1772y of MY 195, However, if he can’t get it without working for

it, he may not make it easier for him and just give it to him.

The ®IM in *H7r ATaY ndon asks a RWp: why aren’t you
allowed to sell something to a M before his "R DY; is it because
you are giving a " profit for his T8 DY, which is an n772y, or is
it because you are doing the 1772y of 21Wa1 NN XY 7Y naYh?

The RI13 answers that you will only be doing n722ay of 71 n4aY
91991 1N RY if he’s unable to get it without you, but if he’s able
to get it without you, you won’t be doing an n7ay. So the R
asks: we see in a RN?71 otherwise, in the XN?71 it says: that you
are not allowed to give wine to a 7913, because of the N2y of 4%
91091 1NN RY 7Y, and we see here that even though the 973 can
get it by himself you’re not allowed to give it to him. So the R71)
answers that in the Rn»11 it’s talking about that the wine was

across a river, and the 9°13 can’t get it if you don’t give it to him.

And the 8”2V7 sets down the guidelines for us: 1) you would
only be 921 the N7y of MY 79Y if you sell someone a 7IOR
item, and without you he wouldn’t be able to get it. 2) if you sell
someone a MOR item, but he was able to get it without you, then
you aren’t being 721 the 1772y of W10 NN RY 7Y 799, but it’s

Srq7
7 The term that 9"tn uses referring to a v holiday.
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still a problem because you are helping another T'8 do an N2y,
which is a separate issue (because of N9 AT D27Y YRV Y, every
TR is a guarantor for the other, and you are not allowed to help
your fellow TR go against the N7N. And we see that when
another TR does a N7y, you aren’t even allowed to tell him
“good job”, because you are considered to be helping him do an
nay, and on the contrary, you have a 2vn to rebuke him®). 3)
You will not be 92 any 1772y if someone demands you to give
him a 790X item without letting you know that he’s going to do a
N2y with it.

And we see mMooIN has an opposing opinion, and he holds
that even if he has his own animals, and even if he’s doing the
172y anyway, you still are not allowed to give him more, because
of the N772Y of YYWIN NN RS MY Nab.

This R itself is a RN as we see clearly how every TR is
connected and how we all affect each other. This idea reminds us
of the importance of Y87’ NanR and how careful we must be in

treating each other appropriately.

— DXR—

& Look in mAym Davy Oy 1pTA 127 MTO in the ™ M0 DRYM pg. VXN for a
detailed discussion when one is supposed to rebuke someone from doing an n72ay
and when he shouldn’t.
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799119 "HN DNNAR ‘NN
2 MV

The first 7IWN in RY'¥N N1 brings a case of two people
holding on to a "9V each claiming that the entire MYV is his.
The 17 is they each swear that at least half of it is his and they
split it.

"9 explains that this nywn is talking about a case where they
are both holding it and one of them does not have a stronger
71N on the N9V than the other one. Therefore the 17 is that it
is split with a N»12w. However, if one of them has it in his hands,
the other one has to bring a MR with DY, because swearing

wouldn’t be enough for him to take it.

We see three cases throughout ©"» where two people are
g peop

arguing about an object and the 17 is different in all three cases.

The first case is our NIWN where two people are holding a N9V
and they both claim it is theirs, and the 777 is ny12W1a PO,

The second case is R2IR RINN- where two people claim that
they got a boat as a nWYP, and the PT is 923 DYRT Y.

The third case is "9'9% Mn - where two people give money to
12387 to hold for them. The first one gave 100 and the other one
gave 200. When they came back to get to their money they both

! Fight it out and the stronger one gets it.
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claimed that they gave 200 and 12187 doesn't remember who gave
what amount, and the 17 is 9% R2W 7Y NN K.

These three cases seem to be exactly the same, why is there a

different 17 in each one!

mMaoIn answers that there are 2 deciding factors that have to
happen to decide the 177: 1. They both have to have a npm on it.
2. The dividing has to make sense. Therefore if they both have a
npm on it but the dividing won’t make sense the 17 is N3 R,
If they both have a npmn on it and the dividing would make sense
the 17 is M1V IYMY. If the dividing does make sense but they
don't both have a np1N on it then the 17 is 923 DYRT Y.

mMaon asks why can't we say 1191 in the case of "%W Mn
because it is possible that the division can also be true. For
example maybe the person who gave 200 owed the other person
50 and he said “when we get our money back I will pay you back
your 50 dollars”. Based on such a scenario the division of 150
each does make sense! MAVIN answers this isn’t the common way
to pay someone back we therefore would not assume that

something like this would happen.

mavIN continues, what's the difference between our case and
R2IR NN The explanation is as follows, the ma 17 decided
that anything you are holding is assumed to be yours so in our
case both people are holding it so both of them "own" it but in

that case none of them have it.

% Give each one 100 and hold the last 100 until ""wn comes.



83 0390 YRNP’T RNNN

There seems to be a problem, why then does the *X7n3 think
that »"»%w MmN is similar to our case in our MWN? So MAVIN
answers in one way they are different because they both have a
7PN on it in both cases but they are different because in our case
the division can be true but in the case of "9'9® nan the division

can't be true so the 17 will be different in both cases.

RN just like MADIN tries to say 1PN in the case of Mn
"HW because technically the division can be true if he owed him
the money but in the end we don't make it that 17 because it is
not the common way to pay someone back so too in our ’n nTay
we should not do everything in an uncommon way rather we

should serve 'n in the proper way.

— DXR—

aq7
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